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SUBJECTNAME | Databrse b LRl 22201 |
anapement System SURIE > -
g:j‘\':gc" fsmum L/CSTI/CDA SESS ,'(:;T COnE ::snzom:r
PROGRAM he MAX. MARKS 100
NAME OF FACULTY Tihee CREDITS 4
;s:'rlfgk:l;ﬁ.::“ (;nn:;nlmknur. NAME OF COURSE, Ms.Sarika /
Norte: All quesiivns are compufs::ry, e Sarika COORDINATOR // W
/ |
QNo. QUESTIONS MARK | ([0x | BLOOM'S PI
| 7 S | pssep | LEVEL
A data file contains 60,000 records, The record length Is 300 _
- bytes of which the key accupies 10 bytes, The block size is 512
.| bytes. Calculate:-
1 ' | L.The average time to find a record assuming a sequential file.
2.Size of the primary index
3. Avepge tifne to access a record through the primary index 232
the primary index 2+2+1 | CO1 BT3
< Wrice the Create Table (SQL) command to create the following )
: relations along with the constraints specified:
e a) Employee(empid imteger, dateof birth :
= date,Lnamevarchar(20), Fnamevarchar(20),
s.ageinteger,addressvarchar(20),phno integer)
PRIMARY KEY — eno ;
2 FOREIGN KEY = dno refers to Department relation
dobshould be more than 01-jan-1590
ephone can have unique values only
b) Department (eno char(3), dnamevarchar{20), dno char(3))
PRIMARY KEY — dno, dname can't be blank 232
| 2.5+25 | CO1 BT3
i Student (ID ,Name, Major)
Caurse (DeptNum, Title)
Dept (Abbrev, Name, Office )
Enrall SID ,DeptNum ,Date)
Major is a FK to Dept In Course
Deptis a FK to Abbrev In Dept
P SIDis a FK to ID in Student;
= Dept-Num is a FK to Dept-Num In Course
% 3 Wrlte the guerles In Tuple Relational Calculus
Be * Express the following querles In Tuple Relatlonal Calculus
&Domain Relational Calculus:
1. What are the department abbreviations and Utles of all courses
numbered 1017
! 2. What are the IDs of tha MATH studnnts taking “Dlscrete
' Structures? 2.3.1
3. Find the deptno of the courses with title"DBMS” 2+241 co2 BT3 i
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Schema :account(acc_ld,br_name,balance)
deposttor(cust_name,acc_ld)

Ioan[Ioan_ld,br_name,amount)

borrowcr{cust_nnme.lnan_ld]

Write the following query In relational algebra.

aJFind names of all customers that have elther a bank account of
a loan at the bank

b) Find all customers that have an account but not a loan

¢) Selects the account IDs of all accounts with a balance of $300
or more

BT3

1.4.1

PART-C

a) Draw an EER diagram of the conceptual schema for another
Part of a University database, described as follows:

* Academic staff, general staff and students are the only persons
at the university.

* Each person Is either an academic staff, or a general staff, or a
student.

* A person is uniquely identified by a Perld (person’s ID), and has
a Name, and an Address. An Address Is composed of HouseNo,
Street, and City.

* A characteristic property of a student Is that she/he has at least
one Major and one NoOIPts (number of points) for each major.

* An academic staff has a Position and an AcQual {academic
qualification),

* A general staff has a GenPos (general position),

* An academic staff teaches at most one course, whereas a
student takes at least one course,

* A course is uniquely identified by a Courld (course ID), and has a
CourName (course name).

= Each course Is taught by at least ona academic staff, and can be
taken by many students, but there may be courses that are nat
taken by any students.

® Each course can use more than one textbook, but there may be
courses with no textbook.

= Atextbook is uniquely identified by the course which uses the
book, and by an OrdNo. The attribute OrdNo is the ordinal

number of the book In the list of the textbooks of a particular
course. A book also has a Title,

2+2+1

15

C02

Co3

141

Given arelationR(P, Q, R, S, T, U, V, W, X, Y) and Functional
Dependency set FD = { PQ 9 R, PS - VW, Q5 > TUP=2X W
Y ), determine whether the given R Is in 2NF? If not, convert it
into 2 NF.

Co3

Relation R has eight attributes ABCDEFGH. Flelds of R contaln
only atomle values, F={CH->G, A-)BC, B-)CFH, EA, FEG}Isa

vt of functional dependencles (FDs) so that F + Is exactly the set
of FDs that hold far R.

‘How many candidate keys does the relatlon R have?

Let arelation R (A, B, C, D ) and functional dependency (AB -> C,
C->D, D~->A}. Relation R Is decomposed Into R1( A, B, C)and

R2(C, D). Check whether decompositian Is dependency preserving
or not.

6

CO4

Co4

Consider a schema R(A,B,C,D) and functional dependencles A->D
and C->D, Then the decompositlon of R Into R1{AB) and R2(CD) Is

Co4

*hdbnnn

BT3

BT3

BT3

BT3

232

2.3.2

232
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PART-D

A Mp!

The locking informatlion for several transactions Is shown below.
Produce a wait-for-graph (WFG) for the transacticns and
determine whether deadlock exists or not.

Transaction id Dataitem Lock mode

Q SHARED
L P EXCLUSIVE
Q EXCLUSIVE
| T3 Q SHARED
T4 P EXCLUSIVE 232
10 Q EXCLUSIVE 10 cos | BT3
Check whether the given schedule S is conflict serializable
and recoverable or not-
T1 T2 hr] Ta
mx)
wWix)
Coammit
wWix)
Cammi
WY
RIZ)
Commit S
R({Y)
Cammit
i 14.1
1158 10 cos | BT3
“7 | Consider the following two transactions:
T1: read(A);
read(B):
ifA=0thenB:=B+1.
write(B).
T2: read(B):
read(A);
5 ifB=0thenA:=A+1;
write(A).
1 Add lock and unlock instructions to transactions T1 and T2, so
| that they observe the two-phase locking protocol. Can the 232
123 | execution of these transactions result in a deadlock 10 cos BT3
~ | Consider a simple checkpointing protocol and the following set of
operations in the log. ) .
(start, T4); (write. T4, y. 2, 3): (start, T1): (commit, T4): (write,
L Tz ST
' (checkpoint); .
(start, T2); (write, T2, X, 1, 9); (commit, T2): (start, T3); (write.
T5.%z 7,2 . )
If a crash happens now and the system ries (o recover using both
undo and redo operations, what are the contents of the undo list
| and the redo list? 141
10 10 COS BT3
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DEPARTMENT OF COMPUTER SCIENCE AND TECHNOLOGY
“T3 Examination, December -2021”
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SEMESTER | 3w Sem _ DATE OF EXAM December 4,2021 j
SUBJECT NAME | Computer Architecture & SUBJECT CODE CS11209B-T
- Organization B RS- —
BRANCH | CSE g SESSION CFirst
TIME 3 lour o MAX.MARKS 100
PROGRAM | BTech CREDITS 04 _
.\.‘4\.\1l I 91"_ - Dr Prinima, Ms. Neelu, Ms, NAME OF COUIRSE Dr Prinima
FACULTY | Urmila - COORDINATOR [
Note: Part A: All questions are compulsory. Each Question carries 2 inarks. /
Part B: All questions are compulsory, Each Question carries 10 marks. s
Part C & D: Attempt any two Questions. Each Question carries 15 marks. /
BLOOM :
Q.NO. QUESTIONS g e | o5
LEVEL
1(a) Explain two Universal Gates and its usefulness. |2 |COl| BT2 |I14.1
1(b) Explain various types of interrupts with examples. o 2 [CO3| BTI 1.4.1
1(e) Explain the Amdahl's Law of performance. 2 [CO4| BTI 1.4.1
1(d) DifTerentiate between direct and indirect addressing. 2 |CO2| BT2 1.4.1
A micro-instruction format has micro-ops field which is divided into
. three subfields FI, F2, 13 cach having seven distinet micro-operations,
o= | 1(e) |condition ficld CD for four status bits, branch field BR having four
= options used in conjunction witl address ficld ADF. The address space is
| = | __lof 128 memory locations. Calculate the size ol micro-instruction. | 2 | c02| BT3 1.4.1
1(n Differentinte between parallelism & pipelining. | 2 |cod| BT 14.1
1) Which one is the fastest memory in compuer and why, |2 1CO3| BT 14.1
1(h) Explain the Locality of reference prineiple.. | 2 co3| Bry |14
1) Find the size of data bus for 128*16 memory, — ]2 |CO3] B3 1.4.1
— "D kexpain Write-Through with exnmple. : ) o2 jcod B2 |4
o _1_“_ Draw a logical dingram of 16 x T multipleer using L x T multiplexer, S _[COLL _BT3 |14
’:‘.; 21 |Simplify the following expression (with the lielp ol Boolean Alebra
S fRule): (X Y Z) (XY LU V)ZL) |5 _Jcol| BT4 |14
3u Explain Genernl Register organization with dingram? . 5 |coa| B |14

LI AL T ]
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PART-C

PART-D

o d-sepmenl instruction pi :line,
A MRRREAR T

s LS - T

'TY LT L)

3b S N
What are the different v . o ;
T hat are the different types of Computer Registers? Explain, |5 ] €O2 BT2 | 14.1
da | 110w many 64K > | RAM chips are needed to provide a memory Col,
_ ___lcapacity ol 256 K-bytes? 5 |co3| BT3 |[14.1
4b Why'i . COol,
AL ts.Cm:hc mapping required and also state all types ol mapping. 10 [CO3| BT3 |14.1
50 Slfllc different Modes of transfer. Explain working of DMA controller col,
with the help of block diagram. 10 |co3| BT2 |l14.1
51 [Explain how an 1/0 interrupt can be handled with the help of interrupt col,
__Jexele, | s [co3| BT2 14l
.l he memory nccess time is | nanosecond for a read operation with a hit
in cache, 5 nanoscconds for a read operation with a miss in cache, 2
mnoseconds f.ur a write operation with a hit in cache and 10
6n nanoseconds for a write operation with o miss in cache. Exceution of a
sequence of instructions involves 100 instroction feich operations, 60
memory operand read operations and 40 memory operand write
operations. The cache hit-ratio is 0.9. Calculule average nemaory Aceess col,
time (in nanoscconds) in execuling the sequence of instructions. 10 |CO3 BT3 1.4.1
ob COl,| BTI,
Explain the concept of Cache Coherence and how it can be controlled? 5 [co3| BT2 |14.]
Instructions are exccuted in a 3-stage pipelining. Assume that eacl
instruction required different stage delay (in terms ol number of clock
cycle) as mentioned in the table below. Find the speedup factor. Table
mentioned below:
IF |ID |[EX
7a 1 ] 2 2
12 2 3 3
13 2 1 3
14 ] - 2
HERE 4 10 [co4| BT3 |14l
b Explain various dependency problems in pipelining, 5 ggj g_ﬁ’. 1.4.1
8a | pifTerentiate between instruction format and microinslrnclim] formal. 5 |co4| BT2 [14.1
Explain the working of microprgram sequencer i the execution of o2
8b |microinstructions stored in control memory with the help of block 0 COTI‘ KT -
diagram. T ot ey L UL . .l
Assume that the time required for the five functional units, “lllti ; ‘
0. |OpErate in each of the live cycles are: 10 ns, 8 ns, 10 'I'S- 5 nsam 708,
JA] Assume that pipelining adds 1 ns of overheid. Find the speed up versus s . - i
mnvele cyele di ath. —_—— —
single cycle data path. —- e
Differentiate between Synchronous and Asynchronous Pipeline. Design L4l
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DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY

“T3 Examination, December -2021"
Semester: 3rd/5th Date of Exam: 06/12/2021

Subject: Analysis and Design of Algorithms Subject Code: CSH204B-T

Branch: CSE /DSML

p Session: |
D  Course Type: Core Course Nature: Hard
b Time: 3 Hours Max.Marks:100 )
o) P"’}“‘““ B.Tech. SiJgnature: HOD/Assaciate HOD: /
3 Note: All questions are compulsory. [ w’
PART -A

I~ S.N
b - No | Questions Marks | Course BT
5 Outcomes Level
=) 1 Define space and time complexity of an algorithm. State

the asymptotic notations used in Computing the 5 COl L1
~) complexities.
=)

2 ALGORITHM Sum(n)

») /l Input: A nonnegative integer n

S0
= go‘r_: So—+li tondo 5 o 2
P Retum S
- 1. What does this algorithm compute?

2. What is basic operation?
= How many times the basic operation is executed?
- PART BB
P S. No | Questions Marks | Course BT
= Outcomes Level
™

3 Solve the following recurrence relutions,
= Lx(m)=xm-1+Slorn>1ix(1)=0 S CO2 L2
-] ii.x(n)=3x(-1) forn>1;x(l)=4
9
ALl L]

9
>

F
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Sort the following eclements using Merge Sort. 5 CcOo2 L3
45,22,88,23,78,46,84,44,21,34.

PART-C

S.No | Questions Marks | Course BT

Outcomes Level

5 Explain the Job sequencing with deadlines using
following example.

N=5. profits(pl,p2,....p5)=(20,15,10,5.1), deadlines | 8 CO3 L3
(d1,d2,.d5)= (2,2, 1, 3, 3). '

6 Find the shortest path between all pairs of nodes in the | 16

following graph shown in Figure by using suitable
algorithm,

COo3 L3,L4

7 What is the Knapsack problem? Find an optimal
solution to Knapsack problem with n=7, m=15 8
(Plycviinne. P7)=(10,5,15,7,6,18,3) and
(12 P Ww7)=(2,3,5,7,1,4,1).

CO3 L3

200009
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~lucidate the minimum spanning tree with the help of
"o prim’s algorithm and show the result for the given
"3 graph shown in Figure.
D
CO4 L3
) 8
o)
-9
-
<
= PART D
<
3 S. No | Questions Marks | Course BT
- Outcomes Level
~
o 9 Write a brief note on P, NP,NP hard and NP complete 10 Co3 L1L2
S problems.
9 10 What is graph coloring problem? Discuss in detail the
S m-coloring graph problem. 5 Cos L2
3 I1 Using backtracking enumerate how can you solve the
A following problems 10 CO3 L1,L2
(i) 8-Queen (ii) Hamilton circuit problem
2
=) 12 Find the optimal tour of travelling salesman problem for
the graph shown in figure.
)
>
15 CO4 L3,L4
)
>
2
2
-
P
p)
: LI L L]
)
)
&I - L

Scanned with CamScanner

Scanned with CamScanner




.
2 'MANAV RACHNA
b) monavmaemn  UNIVERSIT Y A
Denbamel xn Sivim Fropnite Ulrowmanty wicke Hlosgoos At 264 08 20114
>
I DEPARTMENT OF CST
) "3 Examination, Dec-2021"
b SEMESTER Ird l);\'l'li O EXAM 9 Dec 2021
5 | SUBIJECT Data Structures | SUBJECT CODE  CSHI03B-T
| NAME & Adgorithms
¢ . Al S
3(: BRANCH AIML/CDA/CSTIECE SESSION |
> TIME 3hirs MAX. MARKS 100
< | PROGRAM B tech CREDITS 5
\ NAME OF Hanu Bhardwaj,Parnceta . NAME OF Mecena Chaudhary
| FACULTY Dhaliwl, Meena COURSE
: ary ATOR -
Y | . Cl_l.lﬂ"l.lr_\ - _E(_)E)Bl)le ‘ i 1
y Note: All questions are compulsory. (:lw
)
: co BLOOM'S
|
b} Q.NO. QUESTIONS MARKS ADDRESSED LEVEL
>| Consider a two dimensional array A[20][10]. "
pll Assume 4 words per memory cell, the base 4
| 1(A) | address ol array A is 100, elements are stored
) in row-major order and [irst clement s 2 |
A[D]0). What is the address of A[11]]15]7 6 co1 BT1 l 4 :
) o Which data structure is w.od 5o store file in o
\ watem? Define a structure book which includes |
' 1(B) book name, total no_pages and book _prize, Also - 2.4
} declare a variable ol book data structure. 143 Co1 BT2 1 _j
1 1 an institution, stud _id of all the students is
) . being  stored using  douhly linked list in
Qz(a) ascending  order. Write an alporithm  for ' 2.4
! printing all stud_id in descending order, |5 €02 _BT2 1
! T A arcular linked list is being used 1o slm'u‘llw
F wls of the costomer coming lor shopping in a
. ailal store e an algorithm lTor
) Q2(8) departmental store. Write an iy -
addhing 1d 25 at 6th position In circular linked . . . el
- i co2 BT1 1
' list, _ : - n—— L S 1L _ LI
| Convert the infix expression 2.*.|_I{Z-IJ+5"‘.3 ||||!u
. yostlin  eapression  using,inlin 1o I|m~il_n
, Q3 L::ncrsiuuulpmillnn. Also write the alporithm for o N 22-3-
d comverling inhis expression o lm'l'l\ CAPIession. hh co I e IS
Evaluate  the  following  prefis o posthis
' i ons 4
X PIEanions.
Q4 Li}I vy L 142.5 €03 ll'l‘_‘.!______i_J
(LA L AL L)
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1 i)  *4+3-12
210 ¢96-7
iv) 2432450

I/sing a Circular Queue, trace the insert nnd_dcgcmrd__—-- |
functions 1o perform  sequence of  following
operations and show the status of queue afler
every operation: '
Insert 3, Insert 4, Insert 5, Insert 6, Delete, '
Delete. Delete. Insert 7. Insert 8, Delete, Delete, | 24
| Q5 | Insert 7, Delete, Insert 8, Insert 9, Delete 10 co3 BT3 1
Share  your  observations  on  advantage  of
implementing a queue in form of a circular array ‘

instead of a lincar array, A'>» *=ite the algorithm 2.4
Q6 | tvinsert elements in Circular Qucue. 5+5 c03 BT3 1
Construct a hlu'ln search tree for the following
values: :
19. 11 4.15,17, 18, 8, 20,32, 14,60, 3 ‘
Once the tree is constructed. implement Deletion 4.4.
Q7 | of 14 and 8 values respectively. 6+242 co4 BT4 4 “

Tnsert the following values in AVL tree &
05.2.15.26. 13, 100,97, 85,78

. Clearly depict the status of AVL tree after | 44
Q8 | insertion of new value. 10 Co4 BT4 2
Insert the tollowing values in a 5-way : B-tree: ‘
3.7.9.23.45. 1.5, 14,25, 24 13 11 8. 19, 44
Q9 |[4.31.35.56 10 co4 BT4.BT5 | .2

o, IEAL !
Represent a directed graph !
(diazrammatically) with : |

!

Vertices A. B.C.D. E

Edges (A. B). (C. D). (C. A). (A.D).

(B.E).(C.E)(A.E) ,
Also show the above constructed graph s 22_4_
on usm Llnkl.t.l LISL . 545 | l

r|. I’L\Lnl.'.lll

------
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e T3 Examination, December-2021"
SERe S —— —— e —
b’l-I\ll.‘b l'ER 11 DATE OF EXAM 0971272021 o
SUBJEC] 00y using Java SUBJECT CODE CSH201B-r1
NAME
BRANCII CSE == SESSION Morning__ -
I'IME 92:00AM - 12:00 NOON MAX. MARKS 100 L
PROGRAM B.Tech. CSE CREDITS 5
NAME OF CSE3A. 38: NAME OF Mr. Ram Chatterjce
FACULTY Mr. Ram Chatterjee, COURSE
: COORDINATOR
» CSE3C: Ms. Mamta A
AUTHORIZED
B _ SICNATORY my_,
Note: Part A, B : Al questions are compulsory.

Questions are of short ans

Part C, D: Questions are of descriptive/pro gramming type.

Lach question is of 20 marks. Attempt all questions.

wer ﬂ‘ﬁe’f 10 Marks).

LA LR LN

Q.NO. QUESTIONS MARKS co BLOOM'S PI I,
' i
Q1. Answer the following questions with most appropriate terminology and/or justification:
1(A) | The process of designing class is known as_ . 1 co1 BT1 |141
1(B) | Which type of polymorphism addresses late binding? . 1 Co1 BT1 |141
= | . 1(C) ‘When it isn't necessary Lo create objects from class? 1 co1 BT1 |141
> 1 (DJ__ Which type of coupling applies Lo inheritance? | 1 | col BT2 } 141
a i 1(E ]_] What will iappen if the top level class is made private/protected? 1 Co1 BT2 1.4.1
: T—(I ] | Which design patiern involves privale constructor? e 1 CO1 BT1 | 141
> [ (G) _{ What would happen If you say this = ml? . 1] co1| BT2 (141
1(H) Is Java not 100% Qbject Oriented? Justily. o 1 Cco1 B1?2 ll 1_4_:
__l—ﬂj_ Whiat is o cl.ls_blumh-;-i!L]gngZ{ - a 1 _co1 —"T-l 1_4.1
_i-U)_ How mamy abstract classes can a class extend? . 1 CO1 BT1 1.4.
ilferentiate between method overloading and method
- ' lJtllLanli'llLI-hL. l.'\fl'l I'.ll-l"l . . con - ”
Z [ Q2(A) | overriding via Java program. i
; Mlustrate by writlng a progriann n java how you can create two - "
2(B) | publicclasses in a single package. ) 5 Co?2 B A
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L Qi(A) |

4(B)

Qi) |

(B) |

————

In context of Law of Demete
justieation,

() What's the other mame lorit?
(1) What coupling does it stuppor?
(1) Which teatw e of Q0P
(8 Which type of ine
(V) Does the I'nlluwilu
e pewy() —
Inconteat ol exception handling, answor the
Proper justification,

(1) Canwe write only try block without cateh amd finally blocks?
(1) Can we keep other statements Inbetween try, cateh and
linally blocks?

Gi1) There are tyee Slatements in
statement2 and statement3, Aflte
cateh the exceptions ocenrre
excetion has occurred in st
eaesuted or not?

(iv) What is unreachable cateh block errorand why does it occur?
(v) What are run time exceptions in Java. Give example?

conlirms 1o this Lw?
thods (Better/setter) vialate the law?
Lstatementabide by ur violates the law?

Tollowing with

atry block - statement 1,
rthat there s a cateh bloek to
dinthe iy block, Assume tha
atement2. Does statement 3 pel

roanswer the following with proper

10

Cco2

BT2

1.4.1

10

coz

1.4.1

Write a program in Javasignilying the handling of
NullPuinterException, A rraylndexOutOMoundslixce

pliovn along
with Exception class using multiple cateh hlocks.

10

co3

1.4.1

Incontext of Design Pattern, answer (e fulluwhf;;: o
() Which category ol design pattern helps create objects and
how?

(ii) Which category of design patiern helps compose objects and
how?

(1ii) Which category of design pattern help objects communicate
and how?

(1v) Why do we prefer to use design pattern?

(v) Which design pattern is helpful in cloning the object and why

- = Q5(A).

~ 1.Q06(A)

|
|

$ o

would you prefer to use it?

10

Ccoz2

BT2

1.4.1

Explain the state transition diagram ol a Usread diagrammatically
and explam associated thread methods,

S(B) | Write ajava progeam w illustrate coneept ol threa priurliy.

i

!
!

ﬁ“_’] ! .|Iluw'..yuu ln !.lu-ml up e
G TR e

F- =

Wriae java code to depict reading/waonng operations in

S rindlom
access lile,

Mentinn the classes and class inld-ons witly proper syntas thant
. i 'y iy ' il 0!
.ullnﬁ writing hy ||5||B;;|“h| I

TR T - et P e P

g 1 euibll ool

= . -

prghexs END SRl

10

| co3

BT4

1.4.1

10

Co3

BT3

141

10

HT3

1.4.1
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DEPARTMENT OF COMPUTER SCIENCE AND TECHNOLOGY
“T3 Examination, December-2021"

SET-02
y——— e
, SEMESTER ~ [3nd - DATE OF EXAM 13.12.2021 |
EUNIZCT NAME | Secure Coding In C/C++ SURJECT CODE CSH2I3B-T |
| BRANCH CSTI SESSION I |
| TIME 3 hours MAX. MARKS 60
| PROGRAM B.Tech - CREDITS 3
' NAME OF FACULTY | Mr.Awadhesi/Ms Vidushi NAME OF COURSE Ms.Shreya Malhotra
| (Quicklieal Instructor) COORDINATOR .

Nore: All questions are compulsory.

PART A - Q1 to Q2 are shart answer type with 3 marks each

Part B - Q3 is long answer type with 5 marks each.
Part C- Q4 is very long answer type with 8 marks each.

Explain the File /O basics with the relative file 3 Co4 ! BT2 121
{ operations used for them. |
1 Discuss the file access methods in detail. 3 Ccod BT2 | P |
- | Explain the C memory management and how 3 co? . BD 141
= the program is stored over the memory. L
% “ . ! -
\ { What are UNIX File permissions? Discuss 3 Ccod - oB 13l
|
What is Parallelism and its types? Explain with 3 CO3 | BT3 141
example. .‘ |
What are pointers and how they nre vulnerable 3 col S IR A
in coding? |
— —)—————fr———— e _—1_-——4—1
PSS | |
Write four dilTerences between Stack nid Heap. } CO2 B3 1A 1

e e ————
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4 - I41
| Explain Call by Value and Call by Reference in col BT el
| detail. ]
) e —
| What is Stack randomization and other mitiga- BT2 1.2.1
| tion techniques to overcome integer vulnerabili- co3
| ties? | —
Discuss the vulnerabilities with respect to dy- co2 BT3 4.1
| namic memory allocation in C.
| Whatdo you understand by below mentioned
| terms, explain with examples?
i 2.1
u] 1. Concurrency cos3 BT2 :
2. Race Condition
|| 3. Variadic Functions
| 4. Function pointers —
| Explain the Security Development Lifecycle. co4 BT3 (141 |
{ Write a program in C to access the file in read Co4 BT3 1.4.1
and write mode.

-

-

@

Scanned with CamScanner

Scanned with CamScanner



IR

"'}

¥ MANAV RACHNA

neeiet | UNIVERSITY A1

hw-hhlh—**hmndnu

DEPARTMENT OF COMPUTER ENGINEERING
"T3 Examination, Dec-2021"

h“— S —
SEMESTER 3 DATE OF EXAM 1371272021
SUBJECT Modern Web and Moblle SURECT CODF, CSH211B-1
NAME Framework
BIU\JTICII CSE- Con SESSION Morning
TIME 09.00AM-12.00NOON MAX. MARKS 100
PROGRAM B.Tech CREDI'TS 4
NAME OF Ankur Kumar Aggarwal | NAME OF Ankur Kumar
FACULTY COURSE Aggarwal | {

COORDINATOR

Note: All questions are compulsory.

e

Question 1 is of short answer nype

AN
and Question 2 & 3 Is of descriptive type write only requf(mdc
snippet were ever asked in question,

| MA | ADD
T e MA | ADL
QUESTIONS

'RKS | RES

|l | sED
- o topefar ser inpltiu at client T4 __“- |
| side, use example to explain? 13.1
Explain the inheritance behavior of using inline, 4 CO3 | BT2 i
| internal and external CSS in HTML document tags. 3.2.1 *
| What is DOM? Explain 3 ways to update clement 242 | COZ | BT4 1
using JavaScript. 224
i Explain how the architectures helps developer to + CO4 | BT
| create a standard project. 312
| Write a simple javascript code using IITTP module to | 4 CO3 | BT3
& handle client request on 12345 port number. 33.1
: Explaln creating and using user defined modules In 5 CO2 | BT4
Node)S. 224
| Comment “Node J5 Is not a programming language®, | 5+ | CO3 | BT2
Explain features of Node )S 5 3241
Ty
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T Explain the functionality/working principe of React | 4+ [ CO4 | DT3
application. How virtual DOM is helpful in 6
8)1 | performing fast npdating? 421
Whal is a component and how are they used? 5+5 [ CO5 | BTS
Differentiate between States and Props. Write code +10
to explain the use of States and Props using
| JavaScript 434
| Explain the steps of Ajax based application 10+ | CO5 | BT3
development and processing of XMLHttpRequest 5
object from Clicnt to Server to Client for dynamic
| updates. List the six principles of REST APIL 4.3.2
{ Write example code snippet for the below polnts: 2 C06 | BTS
s The let and const (eac
L The arrow functions h)
e New Literal Syntax
L Default Parameter Values
L Spread Operator (ws) 342
1 List fow advantage and disadvantages of creating 10 [cCO04 |BTS
cross platform application. Write code to handle
event based operation to handle State update in
React JS code. 3.2
TTILLL,
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Hence, comment the stability of the system.

Find the Laplace transform of the following
signal:

(a). x(t) = cosw,t

(b). x(t) = e*u(t) + e~tu(t)

Also, draw the ROCs for both cases.

4(B) 10 co3 BT1 2.1.1

(i). Examine whether the following system
isLTI or not:

yln) =x[n+1] —x[n-1]
(ii). Find whether the following signal is

periodic or not.
x(t) = cos(t) + sinV2e 10 co1 BT1,BT4 113

Q5(A) |

ITransform the following signal x(t) to x(3t+2)
i) 10 co1 BT4 311

5(3]' 'y

2

Y

2000000
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DEPARTMENT OF COMPUTER ENGINEERING
“T3 Examination, Dec-2021"

VU VVUVIVUOUVIYIVLULVULUOLDOLOLOUULUG

SEMESTER 3rd - —
SUBJECT e DATE OF EXAM 9/13/ 904
NAME & Dala SUBJECT CODE | CSH602B-T
BRANCII CSE SESSION T
TIME q 00N - 19.00 NeoN =
' MAN. N 3
PROGRAM M.Tech Clll\l?l) ;‘ ll; R .:lm
;\:gll}l (l)i’ Dr. Parneeta Dhaliwal NAME OF Dr. Parnecta
! ‘ COURSE Dhaliwal
COORDINATOR
bh_w.;‘;.} go through the following instructions before the start of the exam: / / A ,
a. All guestions are compulsory.
. dh
Cco BLOOM'S
.NO.
Q QUESTIONS MARKS ADDRESSED LEVEL Pl
1(A Briefly discuss the various compression 5.2
(A) formats in Hadoop. 3 co2 BT4 2
Explore what is Erasure Coding in HDI'S,
| 1(B) and why this feature is introduced in
Hadoop 3.0 1.4
3 CO1 BT1 1
What is the need for Disk Balancer in <
PA | 1(C) | Hadoop HDFS? :
RT- () p 2 CO4 BT3 2
A Explain NameNode and DataNode in
52
HDFS?
1(p) 2 CO1 BT2 1
Which Is better between Hadoop 2 and
51
lladoop 37 ;
1E) b 3 C02 BT1 1
| Asingle database engine is Ineflicient and ?.1
1(F) insufficient for all data searches. Discuss. 2 Cco3 BT3 o
e 5.3
[f.;}_ QZ)[A What is Apache Zookeeper Meant For? : coi BT4 é :
eut 5 C02 BT3 .
B [2(B) | MapReduccon YARN Job Bf:ftt.l:r:l

Scanned with CamnScanner

Scanned with CamScanner



-

[ Discuss,
B
QJ)(A Expl::in the way to execute Apiche Pig | 53
scripts, '
= 3 CO3 BT4
L;?)llfl Ibase Commands In each cillegory: ]
a)bDDL ’

_3(B)_| bjuML g co2 BT2 7
Now is Big Data Different? Discuss the ]
various Issues being faced by Big Data

3(C) | Applications. 4 Co1 BT2 ?'L
Q4(A | llow does Hadoop Ecosystem work? 5.1
) 5 o4 BT1 2

Discuss any two tools for building Data 52
4(B) | Visualization Dashboards in Big Data Stack. | 10 CO4 BT4 .2'
Write short notes on any 3 of the following:
1)Structure of Big Data
2) Amazon DynamoDB
3) Hadoop Framework Tools
4) Workflow Orchestration in ladoop 5.2

Q5 15 C04,C02 BT1 1

Q6(A E_mpirically explain the architecture of 5.2

) Hive. 7 €02 BT1 1

Q6(B 5.3
) 2,
BT1,BT3, | 5.2.
Briefly discuss the Journey of Analytics. 8 co3 BT4 1
Differentiate between the following (Any
3):
1) Performance of NoSQL Databases
2) NoSQL and SQL
3) Hive Iladoop Workflow >1.
Q7_| 4) Bl and Big Data 15 LU he 1

VVLVLVUVUVUVUVLVLVLBDUYUUYVUYUVIYWUUUV UV VY VY VvV v v -
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DEPARTMENT OF FOREIGN LANGUAGE <

T3 Examination, December 2021”

PaperiD:iciii i
Semester: 3%& 7% Date of Exam: 7/12/2021
Subject: Spanish - T Subject Code: FLS101
Time: 90 Minutes Max.Marks: 40 Seanon -

Program: B.Tech / B.ed / Law/6 5S¢/ 60 Signature: HOD/Associate HOD
Invigilator Signature: f6sef s f V

Note: All questions are compulsory.

Ques. 1 Escribe diez lineas sobre ti mismo, tu familla, tu dlase etcétera usando nombre/ adjetivo/
nacionalidad/ profesién/ edad etcétera. (8)
Write 10 sentences about yourself, your family, your class etc. using name/adjecﬁvelnanmﬁty /
profession/ age/ etc..)

-vwa-o\ooooo\wauuuobbéééZ?Z
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Ques. 2 Lee el texto y responde las preguntas. (6)
Read the text and respond to the questions.

iHolal iBuenas tardes! Me llamo Rahul, soy Indlo pero vivo en Francla con mis amigos. Yo tengo 34 anos y
SOy profesor de mateméticas en la escuela MI niimero de teléfono es 9393939. Tengo (I have) un arplga en
Francia que se llama Eva. Ella es de China, es china, Eva tiene 20 afos y es doctora. Tengo gtms amigos que
son jugadores, Ingenleros y profesores. Nosotros vivimos en una casa muy grande. Graclas, ichao!

a. ¢Es Rahul de Francfa? Verdadero o falso-
b. ¢Cudntos afios tlene la amiga de Rahul?

¢, ¢Cudl es la profesldn de Eva?

d. éDdnde vive Eva?

e. ¢Cudles las profesidnes de otros amigos de Ralil?

f. Escribe el contrario (opposite) de grande.

Ques.3 Completa las frases con adjetivo posesivo. (4)
Complete the phrases with adjective possessive,
e.g. (Ellas) coche es pequeiio. Su coche es pequefio.
a. (Yo) casa es nueva.
b. (Nosotros) universidad es grande.
c. (Usted) ordenador es pequefio.
d. (Ellas) televisidn es vieja.
e. (Vosotras) hljas son Inteligentes.
f. (Ustedes) libros son Interesantes.
g (€ profesora de espafiol es simpética,
h. (Td) perro es muy activo,
Ques. 4 Traduce (translate):- (6)

Escribe en Inglés o espafiol. Write In English or Spanish,

a. Este es ml hermano, es australlano.

b. Hay 4 ventanas en la clase.

—
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Geececececgeeeeecceoeed

cl

d.

€.

Ques.

Tengo clases de espafiol los Iunes,

- los miércoles y los domingos.

That book is blue and red.

Her cousin sister Is a lawyer,

My father's car Is black and grey

5 Completa con la forma adecuada de los verbos.
Complete with the appropriate form of AR, ER and IR ending verbs.

Ustedes (hablar) espafiol,

Ella (vivir) en Espafia.
Vosotros (leer) la conjugacién.
Nosotros (escribir) una carta.

Yo (aprender) limgua extranjera.
Usted (escuchar) cancidn.

Tu _ (comer) hamburguesa.
Ellas (trabajar) en colegio.

6 Escribe los niimeros en espaiiol.
Write numbers in Spanish.
56-

23-
11
100-

57-

16-

44

bt = T o, - T s P ey T L s
‘. . L . 4 N - gt Ll - - -

(a) 1

(a)

Scanned with CamScanner

Scanned with CamScanner



Ques. 7 Relaclona los meses, dias y estaciones a Inglés.
Match months, days and seasons.

—

a. Invierno October
b. Octubre January

c. Miercoles Autumn
d. Jueves Winter

e. Otofio Wednesday
f. Domingo Spring

g. Primavera Thursday
h. Enero Sunday

Ques. 8 Elige la opcidn correcta:

Choose the correct option
a. i Un coche ii. Una coche fii. Uno coche
b. i. Uras casos li. Unas casas iil. Unos cacos
c. i.Elperra ii. La perro 1il. El perro
d. |. Lassilas il. Las cilas il Las sillas
e. |. La ordenador il. Las ordenadores ili. Lo ordenadore
f. 1. Una planta fl. Un planta [ll. Las planta
g. . Un madre Il. Una madre lil. Los madres
h. 1. Unos nifios Il. Unas nifios Iil. Los nlfio

***Buena Suerte***

()

(4)

iv. Unas coches

iv. Uno casa

Iv. El perros

Iv. Los sillas

iv. El ordenador

Iv. Los plantes

iv. El madre

iv. Las nifios
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DEPARTMENT OF FOREIGN LANGUAGES
T3 EXAMINATION, DECEMBER 2021

Paper ID...............ccvceu e ..
Semester: 3"& 7" Date of Exam: 91/12/2021
Subject: German -1 Subject Code: FLS102
Time: 90 Minutes Max.Marks: 40 Seassion.T 65
Program: All Signature: HOD/Associate HOD; {

Invigilator Signature:

Note: All questions are compulsory.

Roll number: Name _
Class [ Sec

I. Schreiben Sie das Datum auf Deutsch.
(Write the date in German.) [5]

a) 25.04
b) 01.02
c) 31.12
d) 24.09
e) 03.05

II. Schreiben Sie richtig.
(Frame the correct sentences.) 151

a) spielt - Er-gem - Tennis.

b) Ich - gehe - in das Theater - .

c¢) heipen - Sie - Maria —.

d) kommen - Wobher - Sie - 7

¢) spielen - Wir - jeden Tag - .
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IV.

Schreiben Sie 5 Siitze ither Thr Lichllngshohhy. (5]

Write 5 sentences about your favnurllﬂ”// _
/.
/.

Konjugicren Sic die Verben. 5]
Conjugate the verbs.

(gchen, geht, gehe)

a) Ben ins Theater.

b) Karin mit meinem Hund. (spiclen, spielt, spiele)

c) ihr um 8.00 Uhr nach Ttalicn? (fliegen, fliegt, fliege)

d) Wir sehr gut Deutsch. (sprechen, sprichst, spricht)
e) Anna und Mark ,,Secret of Life”’?  (lesen, lest, lese)

f) du Taj Mahal? (schen, sichst, sehe)

g) Sie bei Microsoft, Herr Meier? (arbeitet, arbeiten, arbeite)
h) Ich _ in Tokyo. (wohnen, wohne, wohnt)

i) Meine Mutier 50 Jahre alt. (ist, seid, bin)

j) Er__ Martin. (heift, heifien, heifie)

Schreiben Sie den bestimmten Artikeln *der’, ‘dic’ oder ‘das’.

Write the definite articles ‘der’, ‘die’ or ‘das’, 151
a) Stift

b) Sofa

c) Stuhl

d) Tasse

c) Brille

f Compuler

g) Buch

h) __ - Kaffee
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VI

VIIL.

VIIL

i) Bett
j) Ventilator

Wie spiit ist es? (Offiziclle Zeit)
What time is it? (Write in the official format)

a) 04.00 Uhr

5]

b) S5.10 Uhr

c) 12.45 Uhr

d) 15.00 Uhr

e) 7.33 Uhr

Ubersetzen Sie ins Deutsch!
Translate the given sentences into German!

a) I play football.

5]

b) Sheis a teacher.

c) He drinks coffee.

d) Ispeak English.

e) We belong to Delhi.

Erglinzen Sie!
Translate the given words accordingly!

5]

Englisch Dcutsch
Italy
Spanien

T e Y Y WSO U YU U U E e ererere
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Boxing
Vollcybnll
Mittwoch
Guten Tag
Winter
Herbst
January
Juli
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DEPARTMENT OF FOREIGN LANGUAGES
T3 EXAMINATION, December 2021

Paper ID..............ccccverrvens
Semester: 378 7 Date of Exam:7/12/2021
Subject: French.I Subject Code: FLS103 _
Time: 90 Minutes Max.Marks: 40 Seasien-L
Program: B.Tech / B.ed / Law [8.5¢/ 3 0A Signature: HOD/Associate HOD:—? \ 1

Invigilator Signature:

Note: All questions are compulsory.
Section-A
(COMPREHENSION ECRITE)

I.  Lisez le passage et répondez aux questions
(Read the passage and answer to the questions)

Aujourd’hui c’est le premier jour de ['école ! Les éléves de I'école sont contents. Voila [z petite
Caroline dans Je cours de frangais. Elle est anglaise. Elle a quatorze ans. Elle est trés belle.
Son(Her) amie de la classe ¢'est Martha, elle est belge et elle a treize ans. Elle est grande et aussi
belle. Elle joue au badminton avec Caroline. Elles aiment beaucoup la France. Le gargon
s'appelle Jean-Pierre. Il est frangais. W a quinze ans. II habite 4 Strasbourg en Alsace. Il est
sympathique. Il donne des bonbons & Caroline et Martha. Il parle en anglais et en francais avec

elles. Les trois sont bons amis.

1. Dites vrai ou faux : 3)

(Truc or False)

a) Martha est japonaise.

b) Carolineca 14 ans.

¢) Les filles jouent au tennis.

d) Martha donne les bonbons.

e) Caroline es! jolie.

f) Jean-Pierre parle anglais ¢l frangnis avee les filles.

2. Répondez aux questions ;
(Answer to the questions)
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n) O habite Jean-Pierre ?

b) Quel Age n Martha ?

Scction B
Expression Ecrite

Il.  Présentez - vous (Present yourself) (5)
. Ou (Or)
Décrivez votre ami(e) (Describe your friend)
Section - C
Grammaire
III.  Complétez avec les articles définis
(Complete with definite articles) @5)
(le /1a/1'/les)
a) Cesont stylos de Pierre.
b) C'est pupitre de cette classe,
c) gargon esd bon,
d) hétel est beau,
c) femme cst belle,
IV. Complétez avec les articles indéfinls
(Complete with indefinite articles) (2.5)

(un/une/des)
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) a) Clest crayon.
b) Ce sont trousses.
] c) C'est cravate.

d) J'ai pantalon.
e) lla livre.

V.  Répondez aux questions : 2)
(Answer 10 the questions)

a) Quel est le sixiéme jour de la semaine?

b) Quel est le mois entre septembre et décembre ?

V1. Traduisez en frangais- &)
(Translate in French)

a) Good evening!

b) She watches television.
c) Thank you very much!
d) See you tomorrow!

e) He lives in Paris.

' |
VII. Complétez avec les verbes: (6)
(Complete with the verbs)

a) Vous (aller) a Delhi.

b) Nous (avoir) une maison.

c) Elle (jouer) avec le chat.

d) Ils (parler) frangais.

e) Tu (chanter) bien,

fi Ce (étre) des gommes

6))

. Traduisez cn francais:-
Vit (Translate in French)

a) It's beautiful!

e T T T T T IR TS RS IS BRIV BN DRV BV BRY SRS R AR L A
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b) It's sunny!
¢) It'scoldl
d) It's hotl

¢) Itsnows!

IX. Quelle heure est-il ? 2)
(What time is it ?)
a) 8:25
b) 5:45
Section-D
Culture and Civilisation
X. Complétez les phrases : (3
(Complete the sentences)
a) est une ville frangaise.
b) est une fleuve frangaise.
c) est un fromage frangais.
d) est une monlagne frangaise.
e) est un vir [rangais,
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Carcer Development Centre
* End Semester Examination, Dec’ -2021"

Roll No........ Name: ..o Semester: 3

Subject: PCE-/ Date of Exam:.JQJ 13/ a2/ Suasion-[ 3 lﬂ\ a
Subject Code:CD0-201 Branch: CST/ME/ECE Program: B- tech 2

Time: 60 Minutes Max.Marks:30

Instructions: All questions are compulsory. Each question carries multiple options. No negative
marking. Calculator is not allowed. Answers are to be fllled In the answer table only. Answers written
outside the answer table won’t be considered.

Answer Table:

1 2 3 4 5 6 7 8 9 10
11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30

bers P, Q, R, X, Y and Z. Q is the son of R but R is not mother of Q. P and

1.A family consists of six mem
N ’ brother of R. X Is the daughter of P, Z is the brother of P. How many

R are a married couple. Y Is the
children does P have ?

Al B.2 C.3 D.4

related with that boy? B. Mother and Son
ndson *
A. Grandmother and Gra D. None of these

c. Aunt and Nephew
suresh was standing facing a pole. The shadow of the pole fell exactly to

Q3 One morning after sunrise,

y as he facing?
his right. TO which direc!!;or\:v v;“ ¢ South D. Data Is Inadequate

A. East
aright turn and walks 20 m. He then agaln turns right and walk for 10 m.

look
cing west. He rth and then 10 m towards west. In which direction Is he from original

fa
Q4 Ram Is 0 mtono

From there he walks 1

position? , B. North-West C. South-East D. South-West
A. North-Eas ' .
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Directions (QS to Q9): Study the dlagram given below and answer each of the following
questions,

25 N\ — persans who takes tea

L2°/17(15} i‘; ) 40 ] O —> Parsons who takes coffee

20
I: —> Parsans who takes wine

Q5. How many persons who take tea and wine but not coffee?
A.20 B.17 C.25 D. 15

Q6. How many persons are there who take both tea and coffee but not wine?
A 22 B.17 C.7 D. 20

Q7. How many persons take wine?
A. 100 B. B2 C.92 D. 122

Q8. How many persons are there who takes only coffee?
A. 90 B. 45 C.25 D. 20

Q9 How many persons take all the three?
A. 20 B. 17 C.25 D. 15

DIRECTION Q10 TO Q14 Answer the questions on the basis of the information given below: K, L, M, N, P,
Q, R, S, U and W are the only ten members in a department. There is a proposal to form a team from
within the members of the department, subject to the following conditions:

A. A team must include exactly one among P, R, and S.
B. A team must include either M or Q, but not both.

C. if a team includes K, then it must also Include L, and vice versa

D. If a team includes one among S, U, and W, then it must also include the other two.

E. L and N cannot be members of the same team.

F.Land U cannot be members of the same team.
The size of a team is defined as the number of members in the team.

member of a team of size 37

?u:?. Wro cannothe? B.M CN 0.f
c::iWho can be a member of a team o!;‘lzl-e 57 e s D.p

Q12 What would be the size of the varse;t' gﬂsslb'e team? g -

A 8

in; ::r;at could be the size of a team lh;f lzntc,lru:es' K? 5 a0 . Only 4
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Q14 In how man

A3 Y ways a team can be constituted so that the team Includes N?

B.4 ' C.5 D.6

E{Irﬁftlon Q1510 Q18 Study the following Information carefully and answer the questions given below ;
B Per§0n5 A, B,C, D, E,F, G and H are sitting around a rectangular table In such a way that two

Persons sit on each of the four sides of the table facing the centre. Persons sitting on opposite sides are

exactly opposite to each other. D faces North and sits exactly opposite to H. E is to the immediate left of

H. A and G sit on the same side. G is exactly opposite of B who is to the Immediate right of C. Ais next to
the left of D.

Q15. Who is sitting opposite to A ?
AG B.D C.E D.C

Q16 Who is next to E in clockwise direction ?

A.G B.B C.F D.AorF

Q17 Which of the following pairs of persans has both the persons sitting on the same side with first
person sitting to the right of second person ?

DF B.CB C.EH D.AG

Q18 Which of the following statements Is definitely true?

A s facing North B. E Is sitting opposite of F
C.Fistothe leftof G D.Cisto the left of A

Q19 Select a figure from amongst the Answer Figures which will continue the same series as established
by the five Problem Figures.

v/ ™ ') W/ w7/ A\ = :U “/ A\ \
C DIC D D C|C CIIC CIC CIC (|C M ¢
AINOC|ICC|ICOICI ] IV ILClLer |y
Problem Figures: ' Answer Figures:
Al B.2 C.3 D, 4
Q20 Insert the missing number
7 17 57
17 |10a | S5 ' 32 |00 | 1 52 ? a9
7 24 48
B.80 C.90 D. 100

A70
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Q21 There is a row of boys In a stadlum. If a boy A, who Is 10th from the left and another boy B, who Is
9th from the right interchange thelr positions, then A becomes 15th from the left. How many boys are
there in the row?

A.63 B.24 c.23 D.22

Q22 Sanjeev ranks seventh from the top and twenty eight from the bottom In a class. How many
students are there in the class ?
A37 B.36 C.35 D.34

Q23 Find the missing number in the following series?
1,2,3,10,?, 9802

A.99 B. 199 C.299 D.999
Q24 Find the next number in the given sequence?

11,17,39,85,?
A.133 B.143 C.153 D.163

Q25 In a certain code language,

'134' means 'good and tasty';

'478' means 'see good pictures’ and

'729' means 'pictures are faint'.

Which of the following digits stands for ‘see’?

A9 B.2 Cl1 D.8

Q26 In a certain code 'SEQUENCE' Is coded as 'FDOFVRFT. How is 'CHILDREN' coded in that code?
A.OFESIMID B. OFSEMIID C. OFSEIIMD D. OFSEIMID

Direction Q27 to Q28. Six different positions of dice are given below:

(D

an ay v ) V1)

The sum of the numbers of dots on the opposite facels 7.

numbered dice has an odd number of dats on thelr top faces, and then find the total

Q27 If an even ;
top faces of thelr dice?

nuzr;berof dots on the ;3 “fp - .

A
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Q28 If an odd numbered dice have an odd number of dots on thelr top faces, then find the total number
of dots on top faces of their dice Is? .
A.ll B.12 C.13 D. 14,

Direction Q 29 to Q30. The following questions are based on the information given below:
All the opposite faces of a big cube are coloured with red, black and green colours. After that Is cut into
64 small equal cubes.

Q29 How many small cubes are there where one face Is green and other one is either black or red ?
A.28 B.8 C.16 D.24

Q30 How many small cubes are there whose at the most two faces are coloured ?
A.48 B.56 C. 28 D. 24
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Note

All questions in Part A are compulsory. Each question carries 2 marks.
Attempt any four Questions in Part B. Each question carries 8 Marks.

e —— = e IR — g e — - e e ——— e —

! ‘ co
o . - | = . BLOOM' P
Q.NO. QUESTIONS ' MLARKS ADDRESS
. . - SLEVFL 1
{ ED
= —— i T s, S S = —
|
l Q.1 | List down practical uses of Philosophy. 2 COl 3
= . : R N ) z — T e e r
= 3o Briefly explain core principles of Philosophy ot - Cu- 3=
= il ! Rabindra Nath Tagore. - | S -
- | What idea does Democrac) hold for you. being an ks ek BIZ
-~ {533 i_[_ng_iug_,\';ﬂionul.___ P | —
| ‘Secularism  is  the baseline o promote lidian 2 U BIS
I e Diversity " Justify w il]l._l.‘\_.ll‘_l_}i_‘il..‘___ﬁ__ | :
I.. | Compare and Contrast Idealism and Naturalism with Ol Ri=
‘ | reference to their ideas about Knowladge, Realiny and
Q5 ivales s | _
| 1 Critically analyze the philosophy of Mahatma Gandhji o2 BY4
! Q.Gni_in_ the modern contest. ) .
1 Reflect upon the idea on One Indiain the backdivp of CO3 RIS
_' i dil'l's:rg:n_l kindsul'gia!!n}: divernsity S
ST . (R Bl
4 Spirituality s the common underhving base beaeath all
religion. Support your answi with sutable examples N
| Expian three branches of Phalosophy in Detal s VOl Bis
Which aspect ol Steve Jobs's hite mspites you the ' Ly BT
most and why! N
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Illlltﬂl!lJ\J

organizational success.

Write a note on social influence
and social idenltity.

Differentiate between group compelition
and group conflict. How do they help
in better performance?

Elaborate on the important aspects
of Organizational psychology

Evaluate does umlivuliun |11uy i

hvaluate some stralegies of stress management
2 o (b I| b e il I. ™ -

’ CUUI.‘SE NAME: COURSE CODE: P Hour 30 DATIE:
il ey - e |
Applied Psychology EDS289 |CREDIT:MAX. MARKS: 40 [minutes 3122021
PROGRAM: B Tech CSEF CSTI , “ T |
BS:: Maths/ Chemistry fﬁ_,-, SEMESTER: 111 é eAD1°N -1 |
oo Attempt two questions from each section. s | co [moows|
Each question carries 5 marks ADDRESSED]  LEVEL
1A Deline Psychology. Discuss atleast five
L characleristics of psychology | 5|cor_Brz_
R | ug Discuss types ol attitudes and four
T : ways of enhancing attitude ~ 5|co1 BT5
A | Write a short note on gender
D) i e discrimination and ways in which
it can be checked | 5lcoz BT6
- Discuss the characteristics of
personality and the importance
P Laza in professional field. E— sco3_ wrez |
| A Define persenality. Discuss various !
?.. R, aspects of personality as outlined in the |
g 0 1)) Big Five personality theory 5/C04 BT3
. B » . -"‘.
What is meant by a group dymanics.
( Discuss group formation and
A quo) its impact in socialization ~5|Cu3 BT4
Hlustrate how group conflicts are
actually constructive for the

HICO3 BT

-1

o1 __ B8BTS

]

CO1 Bro

5C06_ |BTS

:.‘I.. ., Wm""f‘ _4_] o .‘.L'
sl R
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PART-C

3b - B ]
/ . A . .
;'\ h_m_".rk.”'f‘-._‘.i_' Merent 1y pes of Computer Registers” Explain. - 5 CO2 BT2 1.4.1
4a ‘_h“_‘ f_"ﬂ"_\‘l')-_l}\ I RANT chips are needed 10 provide ;]T:Lu:mur}- COl,
—Lapaciy of 256 K-bytes? s |co3| BTr3 |[l4.
] ' - - o Col,
o '\}i} M ache mapping required and also state all types of mapping. | 10| CO3 BT3 1.4.1
gy |Dtate different Modes of transfer, Explain working of DMA controller Col,
_[with the help of block diagram, 10 |co3| BT2 [14.1
sh | Explam how an VO interrupt can be handled with the help of interrupt COl,
o feyele. 5 |co3| BT2 |14.1

.] he memory access time is | nanosecond for a read :ﬁ;é?li-un with a hit
i cache, 5 nanoseconds (or a read operation with a miss in cache, 2
nanoseconds for a write operation with a hit in cache and 10
nanoseconds for a write operation with a miss in cache. Execution ofa

PART-D

Ga : ;
sequence of instructions involves 100 instruction fetch operations, 60
memory operand read operations and 40 memory operand write
operations. The cache hit-ratio is 0.9. Calculate average memory access COl,
lime (in nanoseconds) in execuling the sequence of instructions. 10 |CO3| BT3 |14.1)
o col.| BTI. | ||
Explain the concept of Cache Coherence and how it can be comrolled? | 5 [CO3 | BT2 | 1.4.1
Instructions are executed in a 3-stage pipelining. Assume that each
instruction required different stage delay (in terms of number of clock
cycle) as mentioned in the table below. Find the speedup factor. Table
mentioned below:
IF[ID EX
7 2
7“ ] I { - -
12 2 3 3
13 2 I 3
14 I 4 2
5 2
153 | 2] 10 [Co4| BT3 |14
7b Explain various dependency problems in pipelining. B 5 [CO4| BT2 1.4.1
cOo2,| BTI.
82 | 5ifferentiate between instruction format and microinstruction format, | 5 | CO4 | BT2 | 14.1
Explain the working of microprgram seguencer m the exccution ol
COz2,

8b | microinstructions stored in control memory with the help of block
10 [CO4| BT2 |14.1

diagram. - s ) )
Assume that the time required for the five functional units, which
operate in each of the live cyeles are: 10 ns. S ns, 10 ns, 3 nsand 7 ns.

k T 3 . ' i ORIV TSI
< Assume that prpelining adds 1 ns ol overhead. Find the specd up versus

5 [CO4| BT3 1.4.1

single cycle data path. e ———— -
Differentiate between Synchronous and Asynchronous Pipeline. Design
a 4-segment instruction pipeline. 10 [CO4| BT3I |1.4.]
- ey ] j 77 : = oty ki L o ¢ 1 nkan -

4 W5
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~ NAME PROBABILITY & SUBJECT CODE MAH201B-T

. STATINTICS

¢ BRANCH MATHENMATICS SESSION MORNING

‘ 'IME 9 AN - 12PM MAX. MARKS 100

- PROGRAM B.Teeh, CSE AIML CREDITS 4

" NAME OF NAME OF

- FACULTY Ms. Savitta Saini COURSE Dr. Advin Masih

- - | _COORDINATOR | . ., _~

- Note il questions are f.'r}m_nubu,r:'p_

- ! P L T A T T e W

3 ono. | QUESTIONS T P S
= . ' _ SES SED LEV

- { e EL

- —_— du\* Juy? duy® _ E

""2 1(A) | Hu=yx-+)° +~ z2. show that (;) + (E;) + (;) =1 5 | Co1 | BT3

- = gl | |
:‘:5 1(B) Find the co'-{ rcjirful::s c?t‘mc centre of curvature for any point (x,y) on 5 | co1 | 813 |
= e parabuola y© = +aX. | |

N S T, . dx d . ="

;;; 2(A ( hange the order of integration in f: j': %?yand hence evaluate the s | coz 'nl BT3 'l
Lo = | samic. |
e B 242 ; 1
me=  2(B)  Eraluate [[(x? + y?) dx dy over the circle x* +y* = L. 5 | CO2 | BT3

- T ( um;aEB;%g—z tetrahedra with sides numbered 1 to 4. Let Yy denote !
- the smaller of the two downturned numbers and Y, the larger.

- 3(A) [ [ ind the joint density function of Yy and Yz. 10 | CO4 | BTH
-‘ . .
l-s I| 1 l'i"d "IYI 2 J.Y'! 2 dl
-4;;3 N 0l i j?ﬂ__l]_lf_llll.‘illl and variance oYy and Y;. =
#’._] ' For the following given bivariate probability distribution of Xand Y
= : - - — 1y (i) P(Y = ¢ Py < 5
| 3(B) | find (i) P(X S 2.Y = 3) (i) Y = DU S5) 10 | o4 | BT4
= |
e [ SN I - | —
FERRRES

—

E ]

—
e

Y

Scanned with CamScanner




[ ___-_____—_—-
\\‘I'__-_ 'I T - . ) |
P— ld l'* 4 5 Te -
g 0 TR e I NS N— ||
i | 1132 {22 |23z |33z ||
§ 1 . | [
- SR A VI E Y Y DT T
L | | A RO B J /o if: T
. |
v | |_I|u probability density function of a continuous bivariate distribution is
. siven by
* . ol o Ve SERELU SIS
3 HA) 0, otherwise | 10 | cos | ET4
v ] Find the marginal distributions and correlation coefficient of x and .
- I X and Y are two random variables having joint density function.
- 6—x-— _}'
- _— < , 4
4(B) flx,y) = i 3 where0<x<2,25ys 0 | cos | s18
- 0,otherwise
< Find P(X +Y <3),P(X<1nY <3).
— i
- Ihe sales in a supermarket during a week are given below. Test the
~ hy pothesis that the sales do not depend on the day of the week. using 2
- significant level of 0.05.
'
- Days Mon Tue Wed Thu Fri \ Sat 10 | cos | BT
- 5(A)
A Sales a1 '. i
- | | (inRs. 65 54 60 56 7 I. .
- 1000) | ||
H-U — \ 1
‘% | [ |
" —— _'_"'_'_'_-__-'__—_— - 1
- 7 | he marks obtained by a group ol 9 regular course students and another L '
"G I sroup of 11 part time students in i testare given below: . |
- . |
e r | |
e 5 b s ‘ ‘ |
i pal | 56 62 | 63 | 54| 60 s51 | 67 | 6 . ‘l I|1 " \ oot | B4
- |50 || u o | | 1
- | — — |
|V Mar | “ ||
- | - so 175 | o4 | 72| e8] \ '.
ox |l 70| 7 62 | 60 | S0 | 73 2
i | |
me _ | I S——

U L LU

!
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Fxamine et 1l . .
. \ 11"1“'"» \.\ll‘\.lhnll the marks obtained by regular students and part time
students dilter stenilicantly at 5% and 1% level of significance.

A Hilling machine is expected to fill 5 kg of powder in to bags. A sample
6(A) '~_‘| 10 bags gave the following weights: 4.7, 4.9, 5.0, 5.1, 5.4. 5.2, 4.6, 10 | CO4 | BT4
S b6 and .7, Test whether the machine is working properly?

—_—

A simply supported beam carries A concentrated load P(Ib) at its
midpoint. Corresponding 1o various values of P, the maximum deflection
Y(in) is measured. The data are given below.

200
p 100 120 140 160 180 10 | cos | B3

6(B) | |-

Y 30 35 45 a4 a2 48

Find a law of the form Y = a + bP.
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P = P, (> 14 () =

And is Degrees of Freedom (d.f)
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ot l-‘f 3., shit o
-:’..HJ (v I, — — - e ri’i'!ﬂ””.‘-' (Level of SJ‘H”"!"I'”H]'('J
fr == M 495 - e
= — —— Lo “..;fi‘m — o.m 0o 0.02 0.0
l AL Y] IIRTIR Inh .,:‘.;". Wi M B
L 201 1033 | 986 P d4.84) n214 (6336
115 Any 9 a0 Pl hinn THZI 0210
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| iy 11 267 2 2m e .
| g I 145 Ry N o8, | Lhos off V.85
Y 2 Gan ALK e L, Ldass |10 0BG
, |1z 2 167 . :”v 10.G15 o2 e 16043 | 16812
' o — i 12017 11.06% 16 G2y 18 475
) | ,IM" il 7.314 13,362 15.507 I8 16K | 20090
o 2 iiHH 3.385 8344 [1.G81 16,919 19679 | 21669
m ’ 2.558 4.8940 9,340 15.987 18.407 21161 | 2204
| ‘ ot pe IR oL 17,275 675 | 22es | 20725
¥ | 467l H.226 11.340 18,549 21026 21058 | 26217
| 4 o 107 5.892 12340 19.812 22,2132 Un AT | 27688
! : RS 07l 13,384 21.061 ERNH.17 Ui HTH 29 111
o 1224 7.2061 1138 24007 EARTHH U B B06L7H
I nB812 7 462 151338 23.542 26,206 uO G | Y2000
[? G108 B.672 15.3:38 2.4.7G9 U7 L8T J0.9Y5 d3 0
| = 7015 .40 17 338 HRILH] UH B 32 416 41 805
b 7.633 10,117 18,338 27.201 30141 33,687 36.191
ot 8260 10.851 19.337 28,112 31410 35.020 37 566
] | 8897 11 591 20).337 29.6156 32.671 36,343 38.932
9 4,512 12,1438 91,337 30.813 313,924 37.659 10.289
o 10,1406 1:3.091 29.337 32.007 35,172 38.9068 11.638
29 10 856 13.848 23,337 32.196 36115 10,270 12.980
" 11 524 14611 2.].347 31,382 47 65 11.566 143141
Y 12 198 15379 u2h 336 36.363 a8.B8H 41 806 15.612
7 14 HT4 16.161 20,3306 36,711 10113 41.140 16.963
g 14 566 16 928 27 A6 47916 41447 15 110 18.278
4 11256 17.708 UH G 49,087 A2 GRT 46 693 14.588
40 R RN IERER 2h) 430 10 2606 A3 773 4T V62 50.892

0
(v) greater than 30, the quantity 421"'J2V' 1 may bo used as a normal

Nute. For degrees of freedom

Variale with unit varianes
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e | UNIVERSITY 71
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| Dhmebenrmed ron St Privmim | inssenity sials Marpmnn &6 74 o 7014

DEI:QR_TM ENT OF MATHEMATICS
3 _ I'3 Examination, December-2021"

SEMESTER

SUBIECT NAME ! "r"lmhnm-l,l.:". —— | DATE OF EXAM | 06/12/2021
BIRANCI — Statistics | Hl]l_i.ﬂ*‘.(_."[' CODE MAH 202 B-T
FIME , l£!~sl|+cn,\ | SESSION | [
BSe B.Ed | ):lﬂ_l-lkl.:lllh\M | MAX. MARKS | ) 100
NAME OF B.Tech II CREDITS | 04
Ms Seema Aggarwal '| NAME OF COURSE | Ms Seema Aggarwal

FACULTY

[ COORDINATOR
1 questions are co — |
Al guestions are compulsory. = A

ot
1"V - = T ]
' = [BLO | 1
¥ i S CO s
e . qURTIoNs ALl S L ARIARS s | P
wam, e o i ! g Tt | K's"l |:‘§§;f: m.
' p . ' 1
! A bag X contains 2 white and 3 red balls and a bag Y contains . !
| 1(A) | 4 white and 5 red balls. One ball is drawn at random from one of the \ l
| I bags and is found to be red. Find the probability that it was drawn from | | : 1122
iy bag V. ' . L 344
|? | = | RS X
:':.I___.J S \ slcorlsm2l 4
- | | .
L]
- | I Assume that on the average one telephone number out of fifteen called | \ \ ;
B ' petween 2 P.M and 3 P.M on week days is busy. What is the : - ! '
) probability that if' 6 randomly selected telephone numbers are called (i) \ 1122
| not more than three J(ii) at least three of them will be busy? \ \ [ 1344
| S 5 |co2|BT2] .1
} In a normal distribution 17% of the items are below 30 and 17% ol the \ | 1.122
—- items are above 60. Find the mean and standard deviation. L1344
>\ 2 s |cox|Bra | 1
| 2 | ST T ; ERR
=3 [ the random variable X has an exponential distribution with parameter 1 | 122
= 1> 0, then PIX >a+blX > a) = P|X > b).fora>0.b> 0. \ | 1344
2] ey
12 T I | 5 | co2 | B3 ¥
' — |
| 1he data on the profits (in Rs lakh) earned by 60 companics is as |
. Clollows: —— —
| = Mprofits | Below 10| 1020 5030 [ 30-40 | 40-50 | 30and \
= . o above |
& | No. of 5 |12 20 16 5 2
A companies | . Y S
, ()Obtain the limits of prolits of the central $0% companics.
(b) Calculate Bowley™s coellicient ol Skewness.
' 10
| s ———

TII1L)
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3(h) |

(1)

[ he tollosw e data relate 1o age ol employees and the n

' thes |

Caleulte the mean and standard deviation for the following data given
the age distribution of' $42 members.
20-30 0-40 | 40-
lE
132

\pe- 1.'.|'m||1| 50-60 [ 60-70 [ 70-80 | 80-00

[y ears)
-\'I.Il l'll

members

[ 3 s

rJd

153 1410

‘m

l 10

col

1.

BT3

umber of days
wirted sick in a month,
30 13235 [40

I jo |2 |5

57 |6l
7 ls

33
5

50 | 52

[{]

48

2

|E\EU

Sich
| diays |
Calculate Ka

i

rl Pearson's coeflicient ol correlation and interpret it

10

CO4

N
BT3

1.2,2
344

1.2,2
344

14D |

! 5(n)

Growth of bacteria (N) in a culture after ¢ hrs is given in the following

sure of 10 persons:
60 |72 [63 [55
155 | 160 | 149 l 150

The following data gives the age and blood pres

!:\EL\"_'W 42 36 147 J49 [42
| Bl 147 [ 125 ] |1:~'.| 128 | 145 140
| Prossure " L

(i)Determine the least squares regression equal
ape .
(i) lstimate the blood pressure ol a woman whose age is 45 years.

ion ol blood pressure on

CO4

BT3

1.2,2 |

sispis |

1.34.4

Lable

¢ [0 T 2 3 4 5 6
|~ [32 147 [ |92 132 [190 [275
Fit a curve of the form N = ab® and estimale N whent = 7.

-

10

CO5 | BT4

1.1.2,2
A1.34.4

Records taken of the number of male and female births in 800 familics
having four children are as follows
No. of male births 0 |1 I
No. of female births 4 13 2 i 0
' No. of Tamilies 32 | 178 290236 |9
I'est whether the data are consistent with the hypothesis that the
binomial law holds and the chance of male birth is equal to that of

female birth ,namely p = ¢ = 1/2.

3 4

| bd

10

CO5 | BT3

1.1.2,2

1344

5(b)

a-1vd

rvations in live independent samples.
24]10 13 |32 2zl3s

40 {30 |23

The lollowing ligures refer to obse
CSample ] [25 30 (28 | 34

34

| Saumple 1 |30 32 [20 |31 36 | 17

Analyse whether the samples have been drawn from the population ol

cqual means,

CO3

)

6(b) 32Answer using F — test at 5% level of signilicunce.

The following figures relate to the number of units ol an item produced
A and B3 for o number ol days:

er shifl by two workers
SNl By LW :

2
3

I
0|35 [45

T2a |18 20 [19
120

A 19|22 Jflf-i |27 24 s g
(626 |37 [4u_[35 30 |30 140 10
Can it be inferred that worker A ls more stable compare

d 1o worker

1.2.2

-y -

|
1.34.4

CO5 | BT4

sehhhEN
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Table 2: SIGNIFICANT VALUES t, (u) OF -DISTRIBUTION

o (TWO TAIL .r\‘RE:\S) (1t]=t () =a
= \L__*___h ! rr;huhlhi'y (f etel of Hmm,’:ruumj
.‘ (V) o I 3 1. 51) 0. 1o u 1 fil'ﬂ" '-_n EJ—_'_[ m
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) ) | 092 Rl 507 A3 | mlen |
- ! ) 077 2.32 318 .51 5 84 12 94 |
- '. 074 213 278 a.75 160 | &gl |
- *I 073 202 257 347 103 6 Bh
» 5 0T 194 2 45 314 371 5%
- 7 | on I 90 207 3.00 150 cat |
= 071 1 80 23] 2.90 335 504 f
- “ . 0.70 1 B3 2.26 2 82 325 478
- 10 0.70 1.81 . 223 9.76 317 150
- 1 0.70 1 .80 9.20 .72 311 444
- 12 (070 178 218 2 68 306 132
~ 13 0,59 1.77 216 2.05 3.01 v 22
- 11 0 69 1.76 2.15 262 2 98 414
v 15 0 69 175 213 260 295 $ 07
v 15 N 69 1.75 212 2.58 2 G2 102 |
S~ 17 0 69 1.74 211 957 o090 | 397
- 15 0654 1.73 210 | 235 288 | 362
B 19 n TIGH) 1.73 2 0% 2.51 286 3 E-‘::
— 20 069 173 2 09 2.53 2 85 385
— 21 0.69 1.72 2 08 252 283 38|
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— | 24 069 1.71 2 06 2,19 2 B0 375 l
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: l 0 ()8 1.71 206 2.18 2178 IH: |
- | oy () 68 1 70 2 05 247 2.77 364 ,
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DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY

“T3 Examination, December -2021"
Semester: 3rd/5th Date of Exam: 06/12/2021

Subject: Analysis and Design of Algorithms Subject Code: CSH204B-T

Branch: CSE /DSML

p Session: |
D  Course Type: Core Course Nature: Hard
b Time: 3 Hours Max.Marks:100 )
o) P"’}“‘““ B.Tech. SiJgnature: HOD/Assaciate HOD: /
3 Note: All questions are compulsory. [ w’
PART -A

I~ S.N
b - No | Questions Marks | Course BT
5 Outcomes Level
=) 1 Define space and time complexity of an algorithm. State

the asymptotic notations used in Computing the 5 COl L1
~) complexities.
=)

2 ALGORITHM Sum(n)

») /l Input: A nonnegative integer n

S0
= go‘r_: So—+li tondo 5 o 2
P Retum S
- 1. What does this algorithm compute?

2. What is basic operation?
= How many times the basic operation is executed?
- PART BB
P S. No | Questions Marks | Course BT
= Outcomes Level
™

3 Solve the following recurrence relutions,
= Lx(m)=xm-1+Slorn>1ix(1)=0 S CO2 L2
-] ii.x(n)=3x(-1) forn>1;x(l)=4
9
ALl L]

9
>

F
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Sort the following eclements using Merge Sort. 5 CcOo2 L3
45,22,88,23,78,46,84,44,21,34.

PART-C

S.No | Questions Marks | Course BT

Outcomes Level

5 Explain the Job sequencing with deadlines using
following example.

N=5. profits(pl,p2,....p5)=(20,15,10,5.1), deadlines | 8 CO3 L3
(d1,d2,.d5)= (2,2, 1, 3, 3). '

6 Find the shortest path between all pairs of nodes in the | 16

following graph shown in Figure by using suitable
algorithm,

COo3 L3,L4

7 What is the Knapsack problem? Find an optimal
solution to Knapsack problem with n=7, m=15 8
(Plycviinne. P7)=(10,5,15,7,6,18,3) and
(12 P Ww7)=(2,3,5,7,1,4,1).

CO3 L3

200009
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i
-
. J 8. = _ ‘
~lucidate the minimum spanning tree with the help of
"o prim’s algorithm and show the result for the given
"3 graph shown in Figure.
D
CO4 L3
) 8
o)
-9
-
<
= PART D
<
3 S. No | Questions Marks | Course BT
- Outcomes Level
~
o 9 Write a brief note on P, NP,NP hard and NP complete 10 Co3 L1L2
S problems.
9 10 What is graph coloring problem? Discuss in detail the
S m-coloring graph problem. 5 Cos L2
3 I1 Using backtracking enumerate how can you solve the
A following problems 10 CO3 L1,L2
(i) 8-Queen (ii) Hamilton circuit problem
2
=) 12 Find the optimal tour of travelling salesman problem for
the graph shown in figure.
)
>
15 CO4 L3,L4
)
>
2
2
-
P
p)
: LI L L]
)
)
&I - L
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DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
"T3 Examination, Dec, -2021"”

SEMESTER

5th

DATE OF EXAM 2/12/2021
SUBJECT NAME | Computer Networks SUBJECT CODE CSH301B-T
BRANCH Comp. Sc. & Engg. SESSION I
TIME 3 hrs. . MAX. MARKS 100
PROGRAM B. Tech, CREDITS 4
NAME OF Narender, Mano), NAME OF COURSE | Narender
FACULTY Nikita COORDINATOR //
Note: All questions are compulsory. /F
| e Al T =NT
- LQ.NO. QUESTIONS MARK | pDREsse | BLOOM' | o
: g3 ‘ -+ - D sm
- | | Explain Unipolar and Bipolar line
| 1(A)! | coding method with the help of a
;‘g il diagram. 5 co1 BT1,BT2 | 2.1.1
= Differentiate among the following:
E 1) a. Huband repeater
R 11~ b. Bridges and switches
: c. Routers and gateways 5 co1 BT2 23.1
Explain the hierarchy of Multiple
2(A) | Access technique with the help of
G | diagram. 5 Co2 BT3 2.1.1
@ Assume that
= (a) data is 10110.
E 2(B) (b) code generator Is x34+x7+1
i Calculate CRC Bits:
§ Also check the data Is recelved
s correctly or not? 5 c02 BT3 2.4.1
An ®v4 packet has arrived with the
- ::, x first few hexadecimal diglts as:
0x 47000028000100000102...
a. low many hops can the
() packel travel?
E b, What is the actual data slze?
!l ;n.'f- ‘ c. What Is the slze of the option
s 1 fleld?
- o d. Whatls the type ol service?
_ e. Are there some more
;S(A]-‘j fragments? 10 C03 BT3 2.4.1 |
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3(B)

An organization is granted the block
130.34.12.64/26. The organization
needs to have four subnets. What are
the subnet addresses and the range
of addresses for each subnet with the
help of a diagram?

10

Co3 BT3 24.1

4A)-

Differentiate the Interdomain and
intradomain romting  protocol,
Consider the image given below and
show the Routing table for node A
using Link State Routing Protocol.

10

v

BT3 2.3.1

4(B)

Write short notes on any two:
a. ARP
b. NAT
c¢. MobilelP

10

CO3 BT2 1.2.1

PARTD

5(A)

Compare TCP and UDP in detail.

10

CO4 BT4 2.1.2

5(B)

What do you mean by name space in
DNS? Explain different top level

domains in detail with the help of
examples.

10

CO5 BT2 213

6(A),

How a firewall can monitor the
incoming and outgoing traffic?
Explain the different types of
firewalls.

10

C04,C05 BT2 1.3.1

6(B)!

‘| Write short notes on any two:

a. E-mail system
b. VPN

c. POP3vsIMAP

10

CO5 BT1,BT2

1.4.1
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_ PEPARTMEN_T OF Computer Science and Technology.
— ' ODDISEMESTER(JUL-DEC-2021) 0
T3 QUESTION PAPER ’

NAME OF COURSE COO :
FACULTY NAME:Ms. Mamta Arora Ms. Mamta Arora ROINATOR:
COURSE NAME: COURSE TIME DATE OF
Version Controland ~ |CODE:CSH321 |CREDIT MAX.MARKS: | o \cation: | EXAM:2 Dec
Automation B-T i 100 180 minutes 2021 Z//
[PROGRAM:B.Tech CSE (DTE}, SEMESTER:V Sexinn- [T /Ay
ono. | T E AR o cevi e S Tcole|ntoom| BeE
-NO. QUESTIONS ‘ MARKYADDRE| 8 "°| ‘PI "~
stp Sl A¥ . ['SSED | LEVEL |
: : I(e\) Outline any 10 practices of the Conlinuous Inlegralion. 5 co1 BT2 225
| R Analyze th h | imple
i ¥ 1_(3.,) cﬂ:l'):ﬁ: e ways lhrough which leams can implement the version 10 co1 aTa 231
A . {Wrnile delaled nole on :
2(A) |(1). Continuous Deployment Process. 10 co1 BT2 23.1
& .+, {(2). Benefils of Conlinuous Deploymenlt.
' | Explain the stages af delivering a customized soltware 1o the cllenl
| B Z(BI’ along wilh diagram. 3 oz 812 St

| Identfy the unix commands for the following:

(1). To display a welcome message on the console

(2). append lhe contenls in a file named lesl.tx!

.1(3) delete the file

= |{4) List the contents of Ihe home direclory

3(A) |(5)- display the number of users currenily logged in 10 co2 BT3 KRR
.~ [(6). ust all the hidden files and direclories presentin a home directory.

(7). switch to lhe home direclory.

-|(8). display Ihe curreni date and lime

" |{%). give Ihe execule permission on the file Welcome.c
‘1(10). To check the file permisions.

Exglzin the Benefits of 2dopling DevOps over classical sollware 5 co3 8T2 231

3(B) develupment models in dutail.

identify the git commands for Ihe following cuses:

(1). To install the git

“1(2) To sel the name snd emall id in global configuration

B T e o relpos'mriforw to the public reposilory
local repos! 2

:;i ;z ?f\: l:rr:aecommul Eustory in raverse chronological arder 10 col BT3 2.3.1

/ (6) To display the lastn commils

¢ o [(7) Tucreate annotated tng. _ _

{8). To track the untracked (llus prasenl in tho warking direclory

(9) To update tho lug mfonmutions on remale reposiory.

(10). To Iisl the working branch

O —22>70

What is Tes! Sulle? Wrile Ihe ossorl melhods lor validating he pincode

(P cos | ema |21
4(A) and Aadhar number of 4 cuslomer.

o

i| et ; tion losting 15 not sulliblu. Give 223
| a2ty [Listany 5 scenarios wliere outoma : i ! 5 co3 BT4
.‘ 4[3) comparision lable of JUnit and Selenium sulomaled teshing lools. |
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il A}/ | Creale a script lo check whelher the number entered by user is of 3
2l digit or nol. 5 co3 BT3 | 2.1

| Creale a script wilh while loop priniling first 10 odd numbers. 5 co3 BT3 | 244

[Design a Tesl case documenl along wilh Requiremenl Iracability
|malrix (RTM) for online Holel Bocking Syslem for atleasl 5 business

| requirements (BR). 10 Cco4 BT6 | 2.3.1

{|Explan the following:
{(1). Aulomated Build 05
1(2). Code Generalion
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DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY

“T3 Examination, December -2021"

Semester: 5

Subject: Introduction to Database Management Systems
Branch: CSE

Course Type: Core

Time: 3 Hours

Program: BSc. Mathematics

Date of Exam: 02/12/21

Subject Code: CSH321B-T

Session: [T

Course Nature: Hard

Max.Marks:100

Signature: HOD/Associate HOD:

Note: All questions are compulsory.

o

(AL L LA

[10 marks]
S. Questions Mark | Course | Bloom's | Perform
No S Outco | Taxono | ance
mes my Indicato
Level r
Ql Define database management system and its applications? 5 Col 1 14.1
Q2 What are database models? Compare and contrast the g - | 4
advantages and disadvantages of DBMS?
PART B L1 inarks]
H H . : " H < --l :, - . .
Q3 | Explain relation and their properties in details’ " & - Lol
Q4 | Considerthe following schema:
customer (¢_name, streel, city) 5 co? B3 141
Branch (B _name, city)
LLoan (loannob_pame, umount)
Account(account_no, 3 n:Lu_w.!auhllqcuj i I
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Borrower (c_name, loanno)
Depositor (¢ name, accountno)
Write the querics in tuple caleulus
a. Find the loan number, branch, amount of loans of
greater than or equal o 10000 amounts
b.  Find the loan number for each loan of an amount
greater or equal 1o 10000,
¢.  Find the names of all customers who have a loan
and an account at the hank

s Esmﬁ\

e - |
. [40 marks) m
S.No | Questions - = Mark ! Course | Blooms | Perform 01
s Outco | Taxono | ance
mes | my | Indicato ;'l [
Level r |
Q5 E:fpl:lin the dil'l"crcncc between supc; i;c}'._(?ulzdiﬁ:.ﬁc;n_d TU CO3 BT3 : 1.4.1 -
primary keys with example? [
- _ | | | c.—l
6 List the uses of functional dependencies also what are | 10 ' !
N . CO3 BT3 151 g-
various functional dependencies rules? ? > ! N i l
- - . rYrm E i [ I C-
Q7 List the decomposition properties. What ure multivalued 10 CcO3 BTS | 1. [ I
properties? > . (—I
. |
Q8 What is different type of Auributes and their | ..
10 3 .‘
representation? €0 BI3 ’ bt
. |
PART D I q
| |
Q9 [ What is closed and frequent item sets in data |
g q 110 COs BTS | 141 L
g: I
| !
Q10 | What is preprocessing in data mining? Explain e I ‘\;
wpres i fusus g 10 CO4 BT4 141
different data mining techniques? | 3
QI | What is Data Mining explain KDID process? 0 | cod | B1a 141
Q12 What is market basket Analysis? Explain Apriori | (. e j
algorithm? ! : R G Jh 143 ﬁ\)
' ™~

i

*eseene

7 4

|
o

2,9,
i
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DEPARTMENT OF COMPUTER s
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) “T3 Examination, Dec-2021"
SEMESTE e — =
' . o SIER ' DATEOFEXAM 061272021
v | SUBIJECT NAML | l'\‘!cuml Networks nnd SUBJECT cong, CSH305B-T
' ——— | _Fuzzy Logic |
' 3R] — E - - - e '*—_'_‘_"'—-——-______
BRANCH | CSE ] - SESSION In
e | 3 hours N MAX. MARKS o (L[
PROGRAM  BTeeh CREDITS - =
;“ra\.\‘ll-. Ol’ | Dr. Sachin Lakrg NAME OF COURSE Dr. Sachin Lakra
I-_;\(._l_ll. r | COORDINATOR
Note: Parr 4 - 47 questions are compulsory. frrs
Part B ; Attempt any four questions out of 02 1o Q9. ) /
Z ™
€O | BLoOM'S
Q.NO. QUESTIONS MARKS | ADDRESSE T PI
D L
1(A)
Name 2 applications of fuzzy theory. 2 C02 BT1 1.2.1
1(B) | Nameany 2 learning rules used in an artificial
neural network, 2 COo1 BT1 1.2.1
Give 2 differences between the Widrow-1loff
1(C) | Learning Rule and the Winner-Take All 0
Learning Rule. 2 Co3 BT2 121
Give the mathematica? expression for the new
1(D) | weight calculation in the Widrow llofT Learning
—
e 1(E) [ Give Zdilferences between supervised and
= unsupervised learning, . 2 Co3 BT2 1.2.1
&= Give 2 differences between unipolar and
1(F) | bipolar activation functions In artificial neural
networks., : |2 [co1 T2 1.2.1
;[G] ‘__l!(![iﬂ(!_lj_l_t:‘_jl_ﬂ)pﬁlflj_(ir“llv___i_lis_cp_i!I'ilJ)l“l)‘._____ 12 Co3 B2 1.2.1
1(H) | Explin the concept of o declsion boumbiry in ' -
"HL‘.’LBJ_.'_.‘I_.']HL:I!]II.’|ll:[l|!|_I;l_lj§_|_llil_[!_"}’. 2 - .@e“-i____.___ ur2 1.2.1
;i blas equived inan arulelal
1(1) | Why s ablas Input require : - '
(0 neural network? = 2 €03 BT1 1.2.1
Explain the concept of leatures ol a glven ' ‘
10) problem witl the help of an example, 12 |col BT2 1.2.1

s

Fhdbdhn
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QUESTIONS

e e e el L e L ]

MARKS

co
ADDRESSE

BLOOM'S
LEVEL

Pl

-Q2(4)

Forthe following 1 rplar —
PUQand Pn Q- uzzy relations P and Q. find 7,

M, |1
a2 | 0.5
0.7

2
0.0
0.3

h’h)
a
b

3
09|
0.8

| 09
0.5

=11 8]

b

f———

Here, X={a,b} and Y = {1.2.3).

P=XxYandQ=xXxvy

L014

BT3

1.3.1

2(B)

Explain the differences between supervised
unsu;wrvt-:scd and recurrent learning with the
help of diagrams.

12

Co3

BT2

1.2.1

Q3(A)

Explain the Widrow-HofT Leamning rule. Winich
Iy pe of anificial neural network ar;:'lliluclurc uses
this learning rule? Give (he mathematical
expressions for the leaming signal and the
incremental weight vector for the rule.

12

Co3

BT3

1.2.1

3(B)

Obtain the output of neuron Y using the binary
sigmoidal activation function for the network
using inputs as [0.3 0.7 0.8] with weights as [0.1
0.5 0.3]. where lambda=0.5.

Cco3

BT3

Given a single laver perceptron neural network
with inputs x1, x2 (0.3 0.9), desired output d1 =
+1 and weights wll, w12 [0.5 0.7], calculate the
value of the increment in weights at the end of
ieration 1. Also. the leaming rate is given as 0.25.
The activation function has a threshold of 0.75.

10

co3

r BT3

13.1

_Q4(A}

4(B)

Explain how classification can be performed by
a single layer perceptron neural network with
the help of an example.

10

Co3

.21

PART-B (Artempt any four questions out of 02 10 (09.)

Give the similarities and differences between a
biological neuron and an artificial neuron.

CO1

BT2

1.2.1

.Q5(A)

5(B)

Define a pattemn. DifTerentiate between a spatial
_pattern and a temporal pattern with examples.

12

Cco1

BT2

1.2.1

Q6(A)

Differentiate between linear activation
functions and continuous activation functions
with the help of diagrams.

Cco3

BT2

1.2.1

Laplain the Perceptron Learning rule. Which type
of anificial neural network architecture uses this

learning rule? Give the mathematical c.\prc.ssi.ons
for the learning signal and the incremental weight

veetor for the rule.

12

Co3

BT3

1.2.1

6(B)

Q7(A)

Give the differences between the Perceptron
Learning rule and the Winner-Ta ke-All

12

CO3

BT2

1.2.1

Jearning rule. ,

Carry out the operations of fuzzy union and fuzzy
intersection on the folowing fuzzy scis:
A=0.1/3+0.5/7+03/124 1.0/19

B= 0.3/7+1.0/12+0.5/19 + 0/23

COo4

BT3 |

7(B)

TYYYLL
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Q.NO.

QUESTIONS

MARKS

co
ADDRESSE
D

BLOOM'S
LEVEL

Pl

QB(A)

E\pluin the concept of gradient descent
minimization used in the delta learning rule.

Given a single layer perceptron neural network

with inputs 1, 82, a3, The training patterns are
pr=[+1 -1 1] and p2=]+1 +1 1], desired output
for pl = -1 and lor p2= 41. Carry out the
caleulations for training the perceptron and obtain
the final weights. Also, the learning rate is given
as 0.32. The activation function is the lardlims( )
lunction.

Test the neural network on the inputs
t=[+1-1-1].2=[+] +1 -1]Jand

13=[+1 +1 +1]. Further, give your comments on
the outputs obtained in testing. o

co3

BT2

1.2.1

10

co3

BT3

13.1

Give 5 applications of artificial neural networks
and explain the role of ANNs in cach
application.

Co4

1.2.1

Explain the architecture of a single layer
perceptron neural network with the help of a
diagram.

'TX I3l
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DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
"T3 Examination, Dec. -2021"

SEMESTER 5th DATE OF EXAM | 6/12/2021
SUBJECT NAME | System & N/w Admin. | SUBJECT CODE CSH306B-T
BRANCH Comp. Sc. & Engg. SESSION 0
TIME 3 hr. MAX. MARKS 100
PROGRAM B. Tech. CREDITS 3
NAME OF Narender NAME OF COURSE | Narender
FACULTY COORDINATOR }/
Note: All questions are compulsory. W
Q.NO. QUESTIONS 'MARKS' Annggssnn B,::_gggs Pl
What is the difference between _
1(A) System administrator and Network
< : administrator? What are their
B responsibilities? 5 co1 BT1 111
&- Explain functions and management
| 1(B) | of different components of human
| computer system. 5 COo1 BT1,BT2 | 1.1.2
.3 2(A) What is process? Explain various
E " | stages and their uses? 5 Cco2 BT1,BT2 |13.1
% 2(B) Differentiate between GUI and CLI
a with appropriate examples S co2 BT2 14.1
o What do you mean by VLAN. Creating
a VLAN can be beneficial for reducing
3(A) | traffic, enhancing security, improving
bandwidth performance, save
workspace disruption. Explaln how? 10 Cco3 BT2 2.1.1
'['—i_-;_ - oo 1 Explain the different protocol
associated with different layers of
O TCP/IP model with the help of
FEE 3(B) | diagram. 10 co3 BT2 1.1.2
o Suppose a network with IP Address
§ 192.16.0.0 Is divided into 2 subnets,
| find number of hosls per subnel.
| Also for the first subnet, Mnd-
1. Subnet Address
2. Flrst Host 1D
3. Last Host 1D
4, Broadcast Address 5 CO3 BT3 __2_:12J
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An organization is granted an
address with beginning address

14.24.74-.0/24. The organization
need to have 10 subnets as shown
| below,
1. Two subnets, each with 64
addresses,
2. Two subnets, each with 32
addresses,
3. Two subnet, each with 16
addresses,
4. Four subnets, each with 4
addresses,

Also find the number of addresses
that are not used.

15

CO3

Security is a major concern today.
How can a system or Network
administrator can help in this,

Explain different backup methods
| also.

10

Co4

BT3 23.1

BT2 2.1.1

Explain system tools and GUI tools

)| in detail.

10

C04

BT2 1.4.1

Discuss performance monitoring
_| and optimization tools in detail.

10

CO05

BT2 2.1.1

| Write short notes on any two:
a. Scripts

b. Patches

c. TCP wrappers

10

CO4

BT2 2.1.1
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SEMESTER

Slll

. o DATE OF EXAM | 6/12/2021 ]
b‘Uli.Il-‘.C I Advance Database SUBJECT CODE CSI304B-T
ANAME Management System I l_
BRANCII CSE _ SESSION L |
TIME 00 ted:00PM MAX. MARKS 100 |
PROGRAM B.Tech - CREDITS 3 |
NAME OF Dr. lardeo Kumar NAME OQF " Dr. Hardeo Kumar
FACULTY Thakur COURSE - Thakur
COORDINATOR |

- AUTHORIZED

SIGNATORY s,
Note: Part A, B - All questions are compulsory. Questions are of short answe e (10 Marks).
] i } LK € )
Part C, D: Questions ure of descriptive/programming tvpe.
Lach question is of 20 marks. ditempr all questions.
R = HLDOM‘S+
Q.NO. Q_UESTIONS MARKS | CO !.EVE!.
Q1. _ L
P 1(3) Why did object oriented databases [ail? 2 co1 BT3 1.4.1
1(B) | Dilferentiate total participation and partial participation in ERD. 2 co1 BT2 1.4.1
A 1(C) | Dilferentiate between ORDBMS and ODIBMS. o 2 Cco1 BT2 1.4.1
R Dilterentiate between Materi: ialization and l’l|mllmur in contest ol ] )
1(D) query optimizaton. o . 2 o1 BT2 1.4.1
T- “Ina schema with atteibutes A, 1B, G, D amd E lullm.ulu'w Lol
A lunctional dependencies are given
1(E) [A B.A CC BB DE A .
She sther we can make ABC as primary Key?
Check whether e ) - - -
T | Q2(A) [ Discuss How lllljull amplement Avomicity amd Durabiliy? 5 €o3 BT+ 141
% “Write advimtapes and disadvantages ol 2-Ter and 3-Tier Client . "
O 2(B) | Server r Systems. . 5 _Co3 BT2 .
“What is the nectd ol Frs I|'IIIL'III-IIIIIII i Distrrhuted DIMS?
P Compare the ditference hetween fagmentation and Replication = 141
A Q3(A) | mD Unlllhulul DBMS. o 10 co4 l:T_:_—_l_‘t-l
3(B What |m|Islun can oreur i distrbuted ")"-ll m ddue o the 10 co4 BT
R 145 (B) failure of hnkand p wlhlumml ul llu network? 'Wll.il are Ilu he ways L
' Ity
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by which recovery cun take place?

Q4(A)

What is deductive database. |-':'§|I|i'llli.iLl]I|'IlIl'il|i[m ol deductive
ditabase with suitable application example,

a-Lavd

Q6(A)

Explain the advantapges amd disadvantapes of the weh-DBMS
4(B)_| approach. __

What is the signiticance of GIS, aml how it relates (o peopraplie

_QS5(A)_| mtormition systes?

gueries with example.

6(B)

database with suitable example,

What is mobile tditibase? Explain the mohile database with neat

._5_@_.1 Aieteh, S e
What you understand by Mualtimedia database? Discuss the
challenges ol Multimedia detabase in context ol dillerent lypes ul

Deseribe impm‘lni@ of versioning in context of temporal

10 Co04 T3 14.1

10 Co4 312 1.4.1

10) Co4 T3 1.4.1

10 CO4 nT2 1.4.1

e e . et |

e e ——— —
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DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
"T3 Examination, Dur. zaz: "

Q.NO.

Note: Part A: All questions are compulsory. Questions will be of short answer
Part BB: Questions are descriptive type or numerical. Ior Lach question
Marks are given. Attempt all guestions. _

QUESTIONS

1(A)

1(B)

Qz(A)__

Q3 (A)

Qz()_jt

software

Mention some of the major activities

covered by sofiware project munagement

Define work breakdown structure and
prepare it for “Railway Reservation
System”. Include all the modules in it

Draw the Activity Diagram for Online
Shopping Model.
Compare the Advimta, Ipvs and disidvantapes
of V model va Water Tl model winle doing
the Froject Manapgement,

A company needs e develop digital sipoin
prmuamr soltwire Tor one ol ity newest
inventions. The sofhware is expectad to line
20000 lines of cade. The company needs o
determine  the  ellort in o persommonths
needed 10 develop this sollware using the
basic COCONMO muodel. The muluplicative
(actor for this model is given as 2.0 for the

— T

development — on u.mlm.ldul

(EXTL LN

R __ -___._..___._._____ _.__ ___.-.-_._._—*- = — — '—:ﬁ
SEMESTER yi DATE OF EXAM  6.12.2021 I'
SUBJECT SOFTWARE SUBJECT CODE, CSH307B-T
NAME PROJECT [

MANAGEMENT -y

BRANCH CSE SESSION IPM-4PM f
TIME 3lrs MAX. MARKS 100 |
PROGRAM CSE CREDITS 4 - |
NAME OF Mr. Agha Imran NAME OF Mr. Agha Imran ’
FACULTY COURSE ]
COORDINATOR :

_ W Given).

= ]
L0
MARKS | mmggsssn B.\I’SO PI
! LEVEL
s [ col BT1 222
5 | col BT 222
o |
5 co2 | oBT3 | 242
5 €Ol BT | 221
20 Co2 BT3 | 4.22
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| Q3(B)

Sy stems, while

given as 1.50. What is the estimated eflon
In person-months?

Explain about understanding behavior,
organizational behavior: a back ground.
selecting the right person for the job.,
motivation for w orking in groups. becoming
ateam. decision making, leadership.
organizational structures.

the exponentiation factor is |

—— ek

20

co1

3.24

d- Lyvd |

Q4 (A)

Define the Categories of Quality Model,
Explain the metrics used in Si

x Sigma and
CMM Model.

20

Co3

4.1.2

Q4 (B)

What are the six quality characteristics of
quality requirements defined by 1SO
Standard 91267

20

co3

4.22

tEs kR
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DEPARTMENT OF COMPUTER ENGINEERING
"T3 Examination, Dec-2021"

SEMESTER 5 DATE OF EXAM 8 Dec 2021

SUBJECT Green Computing SUBJECT CODE CSS-325T

NAME

BRANCH CSE/{SNL| T SESSION Evening

TIME 1:00 pm - 2:30 pm MAX. MARKS 50

PROGRAM B.Tech CREDITS 1

NAME OF Dr. Sachin Lakra, Mr. NAME OF Ms. Anu Priya

FACULTY Sanjay Kumar, Ms. Agha COURSE Sharma
Imran Husain, Ms. Anu COORDINATOR Lr
Priva Sharma rrhw

e

Please go through rthe following instructions before the start of the exam:
a. All questions are compulsory. Explain with diagrams wherever required. More
weightage will be given to answers supported with examples and diagrams.

: How has the internet helped to reduce
0N carbon footprints up to some extent? 3 C03
= | How many ways the power usage can be 5
minimized in terms of computing? 3 CO2 BT2
What do you mean by Green Supply Chain? 5.
0| Give some examples. 3 CO1 BT2 ;
What are the Global initiatives taken 5
towards reducing carbon footprints? 5 co2 BT4 .
Which equipment consumes most energy
in Data Centers 7 How can we make the
Datacenter sustainable? 1
243 CO1 BT2
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Which operating system is the most green?
And why? What happens to old computers

when they die?
3+42=5 Co4 BT1

Being a responsible citizen and an IT
professional, how can you contribute to the
environment in order to make it carbon
= | neutral. Support your answer with 3.

| technical reasons. 6 C03 BT2

| Answer the following:

| A. Does using a screensaver conserve
energy when your computer is idle?
| B. Does the average laptop consume less
| energy than a desktop PC?

' | C.) Does constantly shutting down and

| restarting your computer during the day

| consume mare energy than just leaving it

| running?

| D.) How cloud computing contributed to

making computing Green? 5

)| E.) What are virtual machines? 2*5=10 C04,C02 BT2

| Discuss a case study:

" | How did companies like Coca-Cola, Adidas,

| Uber and Amazon embark on a green iT 5

10 C04,C02 BT2

strategy?
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3 MANAV
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UNIVERSITYA

Do " = Sa0ma Prhonte Univarsity vicks Heyan Act 76 of 7014

DEPARTMENT OF COMPUTER ENGINEERING
“T3 Examination, Dec-2021"

SEMESTER 7' DATE OF
SUBJECT o EXAM 2nd Dec 2021
NAME C:)RNTTUA!:;IEZRAS'II‘(I:?‘B[JD SUBJECT CODE CSH422B-T
gmgc}l C-SE-DTE § SESSION Morning
9:00am-10: 3 m MAX. MARKS 50
PROGRAM B.Tech - CREDITS 5
:‘AME OF Ms. Anu Priya Sharma NAME OF Ms. Anu Priya
ACULTY COURSE Sharma
COORDINATOR 17/

Please go {hg:_gt_:g[_z_ the following instructions before the start of the exam:
a. Al questions are compulsory. Explain with diagrams wherever required. More
weightage will be given lo answers supported with examples and diagrams.

QUESTIONS

Differentiate amng the ollowing:

What are the main differences between
Microservices and Monolithic
M Architecture? 3 C03 BT4

= = uwn

LXC and Docker Containers 3 C02 BT2

SDN AND OPENFLOW 5.
3 Co1 BT2 1

How can you make two contalners to
communlcate with each other while
keeping that connectlon hidden from

external traffic. 5 Cco2 BT+

N own
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What [s the advantage of central
intelligence over distributed intelllgence in
SDN?

Co1

BT1

Explain the following commands
1. kubectl get pod

| 2. docker images
3. docker pull
4. docker volume Is

5. docker run

Co4

BT1

How SDN is different from a normal
network setup? Explain it with a suitable
diagram.

Co3

BT3

| Global companies, like Amazon, Coca Cola
or Zalando are transforming their IT
infrastructures into microservice
architecture. What's the reason behind
this? Discuss any one case study.

20

C04,CO2

BT1
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9 AN A UN l Vl R I l Y
D
O DEPARTMENT OF COMPUTER SCIENCE AND TECHNOL GY
“T3 Examination, Dec-2021" ﬁ-?"
o — v;
B | SEMESTER | SEVENTII | DATEOF EXAM 312 32300 l
SUBJECT BIOLOGY FOR SUBIJECT CODLE ERII22 '
S | NAME ENGINEERS _
3 | BRANCH CSE (DSML-DTE) SESSION Morning [
= | TIME ] 9.00AM-10.30AM MAN. MARKS 40 I
| PROGRAM |_Bachelor of Technology — CREDITS et = ‘
S | NAME OF " Ms. Vandana Nandal I NAME OF ' Ms.Vandana h.md.ll
5 | FACULTY . COURSE
- | COORDINATOR
¥ Note: All questions are compulsory
J Part A: 10*1=10 Marks
D Part B: 3*4=12 Marks
> Part C: 1*8=8 marks
? Part D:1#10=10 marks
D’ et T _ 4 oY . Tas !
. n | B e B2 o BLOOM'S
7] L QN0 e SO E5 TEONS MARKS | ‘AppRESSED | LEVEL | ©°
. o S | o PR TRRRE £ () SED
| P iy .
A What do you mean by allele? 1 €03 BT1
Draw a comparison between {lying bird and
R 1(B) aircrall. 1 _Lor 312 ]
T- 1(C) What do you understand by the lerm
A | -7 | multicellularity? 1 Co2 BT2
: 3
.1( :J What Is a catalyst? 1 Cod BT1
-I[E.-)" What are the four bases of RNA? 1 (05 1
e 'r :I(E;)"l‘ Who is the father Biology? 3 L04 BT1
R N 1[6) Which cell organelle Is known as power liouse
< || of cell 7 1 (02 BT1
5-;—--:': N 9ok
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| praw a well labele

Who is the father of microbiology? |1 Jwor wrz |
1(1)
| 1s COVID-19 caused by a virus or bacteria? |1 Y IS .11 S i
1)
_ What do you mean by trait in biology? 1 O3 B2 .
Q2(A
) - ‘| How changes in pll affect the enzyme activity? | 2 604 _ s _y
P 2[3) Define Genotype and Phenotypes, 2 03 BT1
A | Q3(A
R ~ )% .| What are the four main classes of enzymes? 2 CO4 T2
T- 2.+ Where is endoplasmic reticulum located In cell
3(B) ‘| and what are its funclions? 2 03 T2 )
B Q4(A | what is the ditference between homuzypos
) - | and heterozygous givean example? 12 | CO4 ] 115 ]
2ol 4[B] Differentiate between living and non living, 2 co1 T4
P | % 2+ Briefly explain the Structure of DNA and semi-
~ - ~|,Q5(A¥| conservative replication with colored
Al ~).+.+| Diagram. 4 CO5 BT3.BT4
T Outline the contribution of George Mendel and N '
C name the laws proposed by him. 4 03 BT2,UT3 N
A “ Why engincers need Lo study biology. Explain .- ‘ -~
R with few examples. ) Col : =1
‘D, T2

PTLLY L)
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\Jmanavaacina | UNIVERSITY A1
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NAAC ACCRLDITID ‘A GRADE INSTITUTION)
Detinred ns Stote Private Unieersity wntles ssetian 21 of the UGC net, 1936

DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
"T3 Examination, December-2021"

Semester: CSE 7' (DTE) Date of Exam: 04-12-2021
Subject: Artificial Intelligence Subject Code: CSH 205B -7
Branch: CSE Session: MORNING

Course Type: CORE Course Nature: Hard

Time: 3B AL Max. Hayes . |o0

Program: B.Tech. Signature: HOD/Associate H

Note: All questions are compulsory from part A and B.

PART -A
S. | Questions Marks | Course Blooms Performance
No Qutcomes | Taxonomy | Indicator
Level
.1 | Convert the formula ((A — B) = C) into CNF.
2 on ((A=8) Jin 2 co2 L2 1.2.1
(a)
(b) | Given that P(A)=0.3, P(A|B)=0.4,, and (B)=0.5. ]
Compute P(B|A). 2 co2 L2 12.1
(c) | Explain One point and two point cross over in 2 co2 L3 51
Genetic Algorithm.. = ek
(d) | "Human reasoning is not monotonic”, Justify 5 co3 Ls 212
the statement. < ls
() | Explain Fuzzy reasoning with examples. 2 CO3 L5 21.2
PART-B
S. | Questions Marks | Course Blooms Performance
No Outcomes | Taxonomy | Indicator
Level
Q! | Identify the problems encountered during hill
climbing and list the ways available 1o deal wil.h 0 ey LS (2l
these problems? Write down the algorithm lor s
Best First Search? "
T T 2]
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Explain production system. Solve water jug
problem using production rule system

CO3

LS

2.1.2

Explain the components of the planning
system. Discuss total order plan and partial
order plan. Create a total order plan and
partial arder plan for cleaming a celbdng fan
problem,

10

CO3

L5

2.1.2

Q4

With neat sketch explain the architecture,
characteristic features and roles of expert

system. Discuss various limitations and its
applications,

C03,CO4

L5

2.14

Discuss the Dempster-Shafer Theory with an
appropriate example.

COo3

L5

Q6

What are the Steps in natural Language
processing? List and explain them briefly.

Cco3

L4

1.4.1

Q7

Explain inductive learning briefly. Why do we

still use it even though it is not a valid form of
learning?

Coq

L4

1.4.2

Qs

Write a description on DENDRAL expert
system.

10

COo3

L4

1.4.1

Q9

Consider the following set of sentences:

1. John likes all kind of food.

2. Appleare lood.

3. Chickens are food

4. Anything anyone eats and isn't

killed by is food.

5. Bill eats peanuts and is still alive.

6. Sue eats everything Bill eats.
Convert the sentences into predicate logic.
Convert the predicate logic into clause form.
Prove “ John likes peanuts” by resolution
method.

20

COs

L4

[TILLL L

(e
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MANAY RACIINA UNIVERSITY
% ) DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
— “T3 Examination, Dec 2021"
D  Semester: 5" /7 Date of Exam:06/12/2021
3 Subjeet: Theory of Automatn & Complier Design Subject Code: CSH 311 BT
Branch: CSE (DTE/ DSML) Session: Morning
< C.'mmc Type: Domain Core Course Nature: Hard
Time: 3 Hour Program: B.Tech
S  Max.Marks: 100 Signature: HOD/Associate HOD
) Note: All questions are compuisory in Part A, part B, Part C & Part D. /
> PART-A /10 .._.-——-—wg
Q -
S. Questions Marks | CO | BT | PI
S No Level
> 1(a) Consider a grammar having production rules:
> (S>S+S|S*S|S/S|S-S|(S)|1]2]|3} validate the string s co1 | i3 | 1a
) 142%3%(1/2)-2 o
- by using parse tree.
~) Consider a language L= {w € {+, *} | where number of +'s are divisible
_ 1(b) | by 4 and number of *'s are divisible by 5 }. To design a DFA that accepts 5 Col L3 1.4.1
== L.
—~ .
PART-B [10]
v
S.No Questions Marks Cco BT PI
Level
_A2(a) _
Consider a language L= {0 1" | n >0} over input alphabet X = {0, 1}. .
To design a Turing Machine that accepts this language in term of 6 CO2 |L3L4( 141
transition equations.
'i ® Design and explain the hierarchy structure of different types of automaton L CO2 | L1,L2] 1.4.1
2(b)
-2 PART-C [40]
' ﬁs_No Questions Marks [ CO BT PI
; Level
°8) C SLR ing table for given grammar
onstruct parsing -
G = {S-> 0Sn| bSb | c} 10 | CO4 |L3,L4[ 141

AV

L L L L]
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a2 . v
3(b) | Consider a grammar G having production rules: S
Statement 2 (Fg
Statement > (Expression) G
Expression = Expression , Statement ¢
Expression = Statement 14.]
, . 10 C03 L3QL4 .y G’
Where non-terminals are Statement, Expression and terminals are (, ), x
and , C
(i) To find left recursion free grammar G (O
(i) To find FIRST sct and FOLLOW set of grammar symbol of G, C-
(iii) To Design LL (1) Parsing table by using FIRST sct and FOLLOW set,
C-
”~
-
= Consider a grammar G having production rules:
3(©) Q> rr c 10+5 3
P>0P|1 [10+
()  Tofind LR (1) items. b5 | CO4|L3La| 14 1&
(i)  Todesign CLR (1) Parsing table C
(iii)  To design LALR (1) Parsing table c.
(o8
PART-D [40] c
S.No Questions Marks | CO | BT Level Pt
Aa)
(1). Explain the concept of synthesis and inherited attribute with example, \
10 CO5 L1,L2 l.—lé
(i1) Explain the structure of compiler.
' i~
4(b) | Consider a string of an assignment statement:
_ A=Db*-(e-d)+bi-(c-d) 10 | COs | L3L4 | 14T
(i) To design a parse tree for this string I
(i) Design the table for 3-address code, quadruple
4(c) S
What are the common techniques for improving the intermediate code? 10 COs L1.L2 14C
Explain any four of them '
C
4(d) | Consider a source program that contnins the assignment statement: <
Position = initial + rate . 8
Where Position, initial and rate are identificrs, =, + and « are operators and 10 CO3 L2,L3 14.€
8 is a number, )
To shows the translation process of this nssignment statement. During C
translation to show the output of ench phase. P



.-

N MANAV RACHNA

=
o -

Jmsuvmenn | UNIVERSITY A

hb—luhhhﬁm-ﬂlwm?l of 2014

DEPARTMENT OF ..c0eetesCST oreriniencanenseresasas
~T3 Examination, November- December -2021 .

CLLLLLLLLGLIL e

4 Y —— — — N T— — —
I '

‘ SEMESTER | 7TH | DATE OF EXAM | 08.12.2021

| SUBJECT Information Retrieval | SUBJECT CODE | CSH 414B-T

| NAME J }

| BRANCH |_CSE/ 0sHL/HTE [HE | SESSION 1

|_TIME | 3hrs | MAX. MARKS | 100

' PROGRAM | B tech | CREDITS | 5

I\J NAME OF Priyanka Gupta, Meena, | NAME OF Priyanka Gupta
FACULTY | Agha Imran, Sanjay COURSE I
COORDINATOR _|___

vied

| Kumar

|"M:
%] == Rorn n e T A S
"] Create a semantic net to represent the objects
and relations stated in the sentence:
e Charlie is the bird.
) 5 co1
e« BirdcanFly
e Charlie is green in color

| Design a frame representation for 1.

| “Pikachulsa yellow bird having wings to fly” 5 co1

D) 7 -RiyaSharma Isa professor who teaches
| computer in Manav Rachna University ~

241

Consider the following axioms:
e  Sohani likes all kind of food.
e  banana and Cucumber are food
e  Anything anyone eats and not killed is
food.
Ayush eats peanuts and still alive
Amit eats everything that Ayush eats. 10 o2
Prove by resolution that:
e  Sohani likes peanuts.
Show all the Steps of resolution
| o  Conversion of facts into first-order logic.
e  Convert FOL statements into CNF
e Negate the statement which needs to prove
(proof by contradiction)

24.1
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*  Draw resolution graph (unification).

What is an inversion in the indexing process and

!mw 1S 1t employed in the Blocked sort-based
indexing process?

10

co3

BT3

243

Explain the leap's Law for Estimating the
Number of Terms, along with the mathemntical
model that behind jt.

10

co3

BT3

2.3.2

\\:’il!m an example, explain the difference between
dictionary  compression  and postings  file
compression.

10

COo3

BT3

232

\Y B " S SEER Y RV S

| Talk about how Zipf's Law can be used to model
| the distribution of words. Is there any other
- | application where this law can be applied?

10

COo3

BT2

2.23

What is a language model, and how does it
work? Create a one-state finite automaton that
may be used as a model for the unigram

| language.

10

Co4

241

M e W

With the help of an example, distinguish between
Flat Clustering and Hierarchical Clustering.

10

Co4

BT2

223

Explain the hypothesis used in vector space model

| for classification. How document are represented
| Using Naive Bayes

10

Co4

2.2.3

N5(b)

| Assume that the document collection comprises

the following two documents:

» d1: Xyzzy reports a profit but revenue is
down

» d2: Quorus narrows quarter loss but revenue
decreases further
The model will be MLE unigram models
from the documents and collection, mixed
with | = 1/2.

Suppose the query is revenue down. Then:
find

1. P(qdl)

2. P(y|d2)

3. What is the final result?

(LI LY L

10

CO4

BT3
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"

S DEPARTMENT OF COMPUTER ENGINEERING

) "T3 Examination, Dec-2021"
] —— 1
o[ ::I:;llllﬁ Cl ll'.R VI DATE OF EXAM 47197;!031
-« SUBIJECT Big Data SUBJECT CODE SH402B-T
“J BRANCII CSE / OSNL SESSION x

QI FIME Q.vo AN - 13 .00 Noon MAX. MARKS 100
- PROGRAM B.Tech CREDITS 4
n‘f.—\Mlﬁ (')F Dr. Parnceta Dhaliwal NAME OF Dr. Parnecta

) FACULTY COURSE Dhaliwal
3 COORDINATOR

W Please go through the following instructions before the start of the exam:
a. All questions are compulsory.

o

P

VOVLOVLOLVLOLLVLVLULOLOLLLLLOLLLYL G

Cco BLOOM'S
Q.NO. QUEST:ON; MARKS ADDRESSED | LEVEL PI
Bricfly discuss the various compression 52
1(A) . )
formats in Hadoop. 3 o2 BT4 2
Explore what is Erasure Coding in I1DI'S,
1(B) | and why this feature is introduced in
Hadoop 3.0 1.4
3 COo1 BT1 1
What is the need for Disk Balancer in
PA | 1(Cc) | Hadoop HDFS? 5.2
RT- 2 CO4 BT3 2
A Explain NameNode and DataNode In
1(D) | /IDFS? 5.2
2 CO1 BT2 1
Which is better between Hadoop 2 and
1(E) | Nadoop 3? 5.1
3 coZ BT1 5 |
1(F) A single database engine IS Inelficient and 5.1
[ insufficient for all data searches. Discuss, 2 Co3 BT3 Jd
I’f Q2(A | What s Apache Zovkeeper Meant For? 5.3
RT-1 7 b €04 BT4 1
B 2(B) | MapReduce on YARN Job Excecutlon, ) €02 BT3 5.1
L L LA L L)
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_ﬁiscuss. 1
Q3(A | Explain the way to execute Apache Pig 5.3
) scripts. 3 C03 BT4 R}
List 4 1ibase Commands in each category:
a)DDL 5.1
3(B) | b)bML 8 €02 BT2 1
How is Big Data Diflerent? Discuss the
various Issues being faced by Big Data 5.1.
3(C) [ Applications. 4 CO1 BT2 1
Q4(A | llow does lladoop Ecosystem worl? 5.1
) 5 Co4 BT1 2
Discuss any two tools for building Data 5.2
4(B) | Visualization Dashboards in Bipg Data Stack. | 10 CO4 BT4 2
Write short notes on any 3 of the lollowing:
1)Structure of Big Data
2) Amazon DynamoDB
3) Hadoop Framework Tools
4) Workflow Orchestration in lladuop 5.2
Q5 15 €04,C02 BT1 .1
Q6(A Empirically explain the archilecture of 7]
) Hive. 7 €02 BT1 1
5.
Q6(B 2
) BT1,BT3, |5.2.
Briefly discuss the Journey of Analytics. 8 co3 BT4 1
Dilferentiate between the [ollowing (Any
3):
1) Performance of NoSQL Databases
2) NoSQL and SQL » 5.1.
3) llive Hadoop Workflow BT2 1'
Q7 | 4) Bland Big Data 15 co1

TIY L L
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DEPARTMENT OF COMPUTER ENGINEERING
“T3 Examination, Dec-2021"

SEMES T TH
SUILII-‘(;ER Lis DATE OF EXAM | 09/12/2021
NAME‘ Progressive Web App SUBJECT CODE CSH401B-T
] v
T:!\::Ecn CSE SESSION Morning
] h 09.00AM-12.00NOON MAX. MARKS 100
I‘ROG RAM B.Tech CREDITS 4
;«i\gluﬁlg:" Ankur Kumar Aggarwal | NAME OF Ankur Kumar
‘ COURSE Aggarwal
COORDINATOR Laa
Note: All questions are compulsory. =
Qnes:fon 1 is of short answer type and Question 2 & 3 is of descriptive type write only requiredt{

snippet were ever asked in question,

—_— ————
. T s e —

A)l | Service worker helps the developer to imprave the
performance of application for user? 13.1
| Write code snippet to explain the lifecycle of Service |5 CO03 | BT2

worker for registration, installation and activation

stapes. 3.21

| Differentiate all the strategles which canbeusedto |5 C02 | BT4

. serve the files from the cache with the example code

snippet. 224

Write a JavaScript code to read response ofan 5 CO+4 | BT

anlmal.json file using Fetch apl, also handle the error

| and display of JSON content,
TWhat are the benefit of using CORS over 5 [cos

3.1.2

BT3
3.3-1

!L"' |l 1(8) XMLIIttpRequest and JSONP?

YY1
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| Explain with code to create and use IndexDB to | 5+ | CO3 | BT2
perform opening and creating object stores, Give | 10
example of CRUD operation in IndexDB with code

| snippets. 3.21
T Whatall strategies are avallable to make a PWA 10 + | CO4 | BT3
application work offline and which of the strategyis | 5
best? 4.2.1

| Whatare the different strategies that can be usedto |15 |[COS5 |BT5

have responsive design and images in PWA

A)'| applications? 434
| How to implement Promise using simple way, 15 |COS | BT3
chaining of promise and sync base promise, explain
B) | with example of cach. 432
. Explain Application shell with features and benefits. |5+ | C06 | BTS
: How PWA architecture helps in migration of simple 10
342

3(G) | application to PWA application?

Il
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1‘."}‘-‘:{ MANAV RACHNA

DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
"T3 Examination, {ec-2021"

SEMESTER | vy | DATE OF EXAM | 09.12.2021 |
SUBJECT N/W SECURITY & | SUBJECT CODE | CSH%I3B-T |
NAME = | CRYPTOGRAPHY 2= !
BRANCH |_DSML, DTE | SESSION |_Morning 7
TIME |_09.00AM-12.00NOON | MAX. MARKS | 100 J
PROGRAM | CSE | CREDITS | 4 |
NAME OF Priyanka Gupta NAME OF Priyanka Gupta
FACULTY COURSE |
| COORDINATOR J’/Im_gf‘/_'_.__.

Note: Part A: All questions are compulsory. Questions will be of short answer type (Karks Given,).
Part B & C: Questions are descriptive fvpe or numerical. For Each question
Marks are given. Attempt any 4_questions from part B & C.

iy -_‘Q‘.Noi'\.‘-.: , —0
3
1(A) | What Are the Most Common Types of Cyber 2 co3 BT2 2.2.4
_| Attacks?
| DDoS attacks can be segregated by which
1(B) “| layer of the Open Systems Interconnection 2 co3 BT2 222
= .1 (OSI) model they attack a
1('(;,]:-' Write the names of four different types of 2 co3 BT2 222
g il firewalls.
~ 1(])_) Write the minimum two limitation of proxy 2 CO4 BT2 221
|".'] TR firewalls
> 1( Distinguish the primary distinctions between 2 co2 BT2 221
o DES and AES.
2 CO4 BT2 221
Discuss the concept electronlc money
2 CO4 BT2 221
What Is single sign-on?
Which algorithm 1s used to create a message
digest? < Co3 BT1 221
How Is message digest generated?
2 CO4 BT1 2.2.1
*obbhey
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10) Is Single sign-on (5S0) an authentication
tUJB method that enables users to securely
IS authenticate, If yes then Justify your answer

Co4 BT1 2.3.1

- Q2(a)
s T how https is more secure than http explains?

Coz BT2 221

Py what is cybercrime and discuss cybercrime
MR&(D)E that  happened during this pandemic
ol L ™ lockdown

15

Co4 421

BT3

How two factor authentication is secure then
7 conventional authentication

10

Co4 BT3 221

Consider knapsack that weighs 23 that has
| !JD['I‘I made from the weights of the super
Increasing series {1, 2, 4, 9, 20, and 38). Find

the Public Key, Private Key, ‘binary code’ and
| coded message.

10

coz BT3 4.2.1

VPNs and firewalls are two of the most
| important tools used to keep your computer
| safe, though they work differently. Explain
| there working in detail with the help
diagram.

20

€co2 BT3 423

| what are botnets why are they used in ddos
| attacks

10

Co4 BT3 2.2.1

What are the properties and feature of hash
function

10

co3 T3 4.2.1

# COVID's inceptlon transformed a paper-
based culture into an entirely digital one.
| This transition resulted in increased
productivity, electronic document tracking,
and the ability to move more quickly through
!| internal procedures. The government of ABC
Country wishes to conduct this procedure
entirely online. Is there a way to secure
| documents in the virtual mode? Whether it is
)| a digital signature or the MD5 or SHA
algorithms, which algorithm should be used
| to increase the safety of documents, or how
do they contribute in protection? Explain any
one of them in detail using a diagram and
illustrate how that algorithm contributed to

the above study.

Py PR ST A=

TR L)

20

COS BT4 | 421
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DEPARTMENT OF FOREIGN LANGUAGE <

T3 Examination, December 2021”

PaperiD:iciii i
Semester: 3%& 7% Date of Exam: 7/12/2021
Subject: Spanish - T Subject Code: FLS101
Time: 90 Minutes Max.Marks: 40 Seanon -

Program: B.Tech / B.ed / Law/6 5S¢/ 60 Signature: HOD/Associate HOD
Invigilator Signature: f6sef s f V

Note: All questions are compulsory.

Ques. 1 Escribe diez lineas sobre ti mismo, tu familla, tu dlase etcétera usando nombre/ adjetivo/
nacionalidad/ profesién/ edad etcétera. (8)
Write 10 sentences about yourself, your family, your class etc. using name/adjecﬁvelnanmﬁty /
profession/ age/ etc..)

-vwa-o\ooooo\wauuuobbéééZ?Z
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Ques. 2 Lee el texto y responde las preguntas. (6)
Read the text and respond to the questions.

iHolal iBuenas tardes! Me llamo Rahul, soy Indlo pero vivo en Francla con mis amigos. Yo tengo 34 anos y
SOy profesor de mateméticas en la escuela MI niimero de teléfono es 9393939. Tengo (I have) un arplga en
Francia que se llama Eva. Ella es de China, es china, Eva tiene 20 afos y es doctora. Tengo gtms amigos que
son jugadores, Ingenleros y profesores. Nosotros vivimos en una casa muy grande. Graclas, ichao!

a. ¢Es Rahul de Francfa? Verdadero o falso-
b. ¢Cudntos afios tlene la amiga de Rahul?

¢, ¢Cudl es la profesldn de Eva?

d. éDdnde vive Eva?

e. ¢Cudles las profesidnes de otros amigos de Ralil?

f. Escribe el contrario (opposite) de grande.

Ques.3 Completa las frases con adjetivo posesivo. (4)
Complete the phrases with adjective possessive,
e.g. (Ellas) coche es pequeiio. Su coche es pequefio.
a. (Yo) casa es nueva.
b. (Nosotros) universidad es grande.
c. (Usted) ordenador es pequefio.
d. (Ellas) televisidn es vieja.
e. (Vosotras) hljas son Inteligentes.
f. (Ustedes) libros son Interesantes.
g (€ profesora de espafiol es simpética,
h. (Td) perro es muy activo,
Ques. 4 Traduce (translate):- (6)

Escribe en Inglés o espafiol. Write In English or Spanish,

a. Este es ml hermano, es australlano.

b. Hay 4 ventanas en la clase.

—
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cl

d.

€.

Ques.

Tengo clases de espafiol los Iunes,

- los miércoles y los domingos.

That book is blue and red.

Her cousin sister Is a lawyer,

My father's car Is black and grey

5 Completa con la forma adecuada de los verbos.
Complete with the appropriate form of AR, ER and IR ending verbs.

Ustedes (hablar) espafiol,

Ella (vivir) en Espafia.
Vosotros (leer) la conjugacién.
Nosotros (escribir) una carta.

Yo (aprender) limgua extranjera.
Usted (escuchar) cancidn.

Tu _ (comer) hamburguesa.
Ellas (trabajar) en colegio.

6 Escribe los niimeros en espaiiol.
Write numbers in Spanish.
56-

23-
11
100-

57-

16-

44

bt = T o, - T s P ey T L s
‘. . L . 4 N - gt Ll - - -

(a) 1

(a)
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Ques. 7 Relaclona los meses, dias y estaciones a Inglés.
Match months, days and seasons.

—

a. Invierno October
b. Octubre January

c. Miercoles Autumn
d. Jueves Winter

e. Otofio Wednesday
f. Domingo Spring

g. Primavera Thursday
h. Enero Sunday

Ques. 8 Elige la opcidn correcta:

Choose the correct option
a. i Un coche ii. Una coche fii. Uno coche
b. i. Uras casos li. Unas casas iil. Unos cacos
c. i.Elperra ii. La perro 1il. El perro
d. |. Lassilas il. Las cilas il Las sillas
e. |. La ordenador il. Las ordenadores ili. Lo ordenadore
f. 1. Una planta fl. Un planta [ll. Las planta
g. . Un madre Il. Una madre lil. Los madres
h. 1. Unos nifios Il. Unas nifios Iil. Los nlfio

***Buena Suerte***

()

(4)

iv. Unas coches

iv. Uno casa

Iv. El perros

Iv. Los sillas

iv. El ordenador

Iv. Los plantes

iv. El madre

iv. Las nifios

Scanned with CamScanner

Scanned with CamScanner

£ 0@

XY

T 794

feeeT

LT 29 7997

-
—

LW )

i



\s, MANAV RACHNA
Rmm,w UNIVERSITY 7

| FOUAMT MAMAZ AL COLITA OF Daiadiine)
HAAC ACCTIDTID W CAADE POTIUTION
Dot 04 T Py Loty st s bam P of 2 77wt 1734

DEPARTMENT OF FOREIGN LANGUAGES
T3 EXAMINATION, DECEMBER 2021

Paper ID...............ccvceu e ..
Semester: 3"& 7" Date of Exam: 91/12/2021
Subject: German -1 Subject Code: FLS102
Time: 90 Minutes Max.Marks: 40 Seassion.T 65
Program: All Signature: HOD/Associate HOD; {

Invigilator Signature:

Note: All questions are compulsory.

Roll number: Name _
Class [ Sec

I. Schreiben Sie das Datum auf Deutsch.
(Write the date in German.) [5]

a) 25.04
b) 01.02
c) 31.12
d) 24.09
e) 03.05

II. Schreiben Sie richtig.
(Frame the correct sentences.) 151

a) spielt - Er-gem - Tennis.

b) Ich - gehe - in das Theater - .

c¢) heipen - Sie - Maria —.

d) kommen - Wobher - Sie - 7

¢) spielen - Wir - jeden Tag - .

Scanned with Ca.nﬁScanner

Scanned with CamScanner



1L

IV.

Schreiben Sie 5 Siitze ither Thr Lichllngshohhy. (5]

Write 5 sentences about your favnurllﬂ”// _
/.
/.

Konjugicren Sic die Verben. 5]
Conjugate the verbs.

(gchen, geht, gehe)

a) Ben ins Theater.

b) Karin mit meinem Hund. (spiclen, spielt, spiele)

c) ihr um 8.00 Uhr nach Ttalicn? (fliegen, fliegt, fliege)

d) Wir sehr gut Deutsch. (sprechen, sprichst, spricht)
e) Anna und Mark ,,Secret of Life”’?  (lesen, lest, lese)

f) du Taj Mahal? (schen, sichst, sehe)

g) Sie bei Microsoft, Herr Meier? (arbeitet, arbeiten, arbeite)
h) Ich _ in Tokyo. (wohnen, wohne, wohnt)

i) Meine Mutier 50 Jahre alt. (ist, seid, bin)

j) Er__ Martin. (heift, heifien, heifie)

Schreiben Sie den bestimmten Artikeln *der’, ‘dic’ oder ‘das’.

Write the definite articles ‘der’, ‘die’ or ‘das’, 151
a) Stift

b) Sofa

c) Stuhl

d) Tasse

c) Brille

f Compuler

g) Buch

h) __ - Kaffee
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VI

VIIL.

VIIL

i) Bett
j) Ventilator

Wie spiit ist es? (Offiziclle Zeit)
What time is it? (Write in the official format)

a) 04.00 Uhr

5]

b) S5.10 Uhr

c) 12.45 Uhr

d) 15.00 Uhr

e) 7.33 Uhr

Ubersetzen Sie ins Deutsch!
Translate the given sentences into German!

a) I play football.

5]

b) Sheis a teacher.

c) He drinks coffee.

d) Ispeak English.

e) We belong to Delhi.

Erglinzen Sie!
Translate the given words accordingly!

5]

Englisch Dcutsch
Italy
Spanien

T e Y Y WSO U YU U U E e ererere
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Boxing
Vollcybnll
Mittwoch
Guten Tag
Winter
Herbst
January
Juli
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DEPARTMENT OF FOREIGN LANGUAGES
T3 EXAMINATION, December 2021

Paper ID..............ccccverrvens
Semester: 378 7 Date of Exam:7/12/2021
Subject: French.I Subject Code: FLS103 _
Time: 90 Minutes Max.Marks: 40 Seasien-L
Program: B.Tech / B.ed / Law [8.5¢/ 3 0A Signature: HOD/Associate HOD:—? \ 1

Invigilator Signature:

Note: All questions are compulsory.
Section-A
(COMPREHENSION ECRITE)

I.  Lisez le passage et répondez aux questions
(Read the passage and answer to the questions)

Aujourd’hui c’est le premier jour de ['école ! Les éléves de I'école sont contents. Voila [z petite
Caroline dans Je cours de frangais. Elle est anglaise. Elle a quatorze ans. Elle est trés belle.
Son(Her) amie de la classe ¢'est Martha, elle est belge et elle a treize ans. Elle est grande et aussi
belle. Elle joue au badminton avec Caroline. Elles aiment beaucoup la France. Le gargon
s'appelle Jean-Pierre. Il est frangais. W a quinze ans. II habite 4 Strasbourg en Alsace. Il est
sympathique. Il donne des bonbons & Caroline et Martha. Il parle en anglais et en francais avec

elles. Les trois sont bons amis.

1. Dites vrai ou faux : 3)

(Truc or False)

a) Martha est japonaise.

b) Carolineca 14 ans.

¢) Les filles jouent au tennis.

d) Martha donne les bonbons.

e) Caroline es! jolie.

f) Jean-Pierre parle anglais ¢l frangnis avee les filles.

2. Répondez aux questions ;
(Answer to the questions)
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n) O habite Jean-Pierre ?

b) Quel Age n Martha ?

Scction B
Expression Ecrite

Il.  Présentez - vous (Present yourself) (5)
. Ou (Or)
Décrivez votre ami(e) (Describe your friend)
Section - C
Grammaire
III.  Complétez avec les articles définis
(Complete with definite articles) @5)
(le /1a/1'/les)
a) Cesont stylos de Pierre.
b) C'est pupitre de cette classe,
c) gargon esd bon,
d) hétel est beau,
c) femme cst belle,
IV. Complétez avec les articles indéfinls
(Complete with indefinite articles) (2.5)

(un/une/des)
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) a) Clest crayon.
b) Ce sont trousses.
] c) C'est cravate.

d) J'ai pantalon.
e) lla livre.

V.  Répondez aux questions : 2)
(Answer 10 the questions)

a) Quel est le sixiéme jour de la semaine?

b) Quel est le mois entre septembre et décembre ?

V1. Traduisez en frangais- &)
(Translate in French)

a) Good evening!

b) She watches television.
c) Thank you very much!
d) See you tomorrow!

e) He lives in Paris.

' |
VII. Complétez avec les verbes: (6)
(Complete with the verbs)

a) Vous (aller) a Delhi.

b) Nous (avoir) une maison.

c) Elle (jouer) avec le chat.

d) Ils (parler) frangais.

e) Tu (chanter) bien,

fi Ce (étre) des gommes

6))

. Traduisez cn francais:-
Vit (Translate in French)

a) It's beautiful!

e T T T T T IR TS RS IS BRIV BN DRV BV BRY SRS R AR L A
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b) It's sunny!
¢) It'scoldl
d) It's hotl

¢) Itsnows!

IX. Quelle heure est-il ? 2)
(What time is it ?)
a) 8:25
b) 5:45
Section-D
Culture and Civilisation
X. Complétez les phrases : (3
(Complete the sentences)
a) est une ville frangaise.
b) est une fleuve frangaise.
c) est un fromage frangais.
d) est une monlagne frangaise.
e) est un vir [rangais,

Scanned with CamScanner

Scanned with CamScanner



SEMESTER

| MANAV RACHMNA!
et UNIVERSITY 7

e St Prorte L gt

e

DEPARTMENT OF ENGINEERING
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SET-A
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]
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DATE OF EXAM

09.12.2021

" Fifth | =
SUBJECT ber Laws =
| NAME | CyberLaws ' SUBJECT CODE  LLWS323
| -+
BRAN P
'1‘:1:1;-(:!] Law | SESSION I |
e 01:00-02:30 PM MAX. MARKS 40 marks i
PROGRAM B.Tech CSE/DSML/DTE  CREDITS 2. i
| NAME OF ¢ Qimran G . .
ke 11!; I?I’,'Y Ms. Simran Singh NAME OF Ms. Simran Singh |
o M. Nidhi COURSE ~ M. Nidhi |
- B Mr. Shivam COORDINATOR | Mr.Shivaw ,
Lot Al the questions are compulsory, .
- r -. 3 I
Q.NO. UESTIONS O BLOOM'S |
¢ ; M‘}RKS ADDRESSED | LEVEL |
F— — ]
Q.1 | Explain the purpose and objective of studying ' !|
- “cyber law in 21" century. 10 €01 L2 l
Why the right to “freedom of speech and
Q.2 | expression’ has become a debatable issue in
cyber space? : Selll) o coz (L4 ==_
| What is cyber-crime? How do you classily
Q.3 | different types of cyber-crimes? Briefly explain
cach. w | co3 |4 l
B Briefly analyze the aims and objectives ol the '
E IT Act, 2000. Also !?uing a student in the area
4 | of technology, wiite down your suggestions
L which can be brought in by the Indim law- \
l maker to enhance the cyber security in India. b \
i T 10 _ . Co4’ _J_LS N

o o oo ook ok
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DEPARTMENT OF LAW
“T3 Examination, Dec-2021"
——— — e -
SEMESTER __ |V  DATE OF EXAM (18] 3-9) B
SUBJECT | LAW RELATING SUBJECT CODE | L.WS325
NAME ' INTELLECTUAL |
| PROPERTY RIGHTS
BRANCH AW LT ch - oot] oojg] SESSION 2021-22 (1)
TIME | 15hs  MAX.MARKS 50 -
PROGRAM | B.TECH/ESA  CREDITS | 2 |
NAME OF AMIT KUMAR - NAMEL OF AMIT KUMAR
FACULTY | COURSE |
- N . | COORDINATOR _ ]
Part A - Attempt any ONE question. C}(—'D"j{l 217° J
Part B- Attempt any TWO questions.
: COS= -
. ~ | MARK BLOOM'
Q.NO. QUESTIONS S ADDE;ESSE S LEVEL
What do you understand by the term
I “intellectual property™ Mention different
;g Q categorics of “intellectual property” and also
= provide suitable examples for each category. 10 | CO3 BT!
%
>~ | Bring out the socio- economic importance of
“intellectual property rights . : o jco2 BT2
e Who is a “patent holder™ Explain the rights
enjoyed by @ “patent holder” and limitations
3 on those rights? : 20 _co2 BT4
= What is the objective behind granting
; vpatent'? List few merits and demerits of
Patentsystem. (20  [CO2 BTI
E "(E—__ IE:pL!um wrademark infringement”. What remedy
Eﬂ s available 1o the owner of trudemurk in case of .
orripgement? 20 |COo4d B4
__Q:"____. _Illl:l'rllllpill:-l“;;:_t.r_t|llnc What wre the :iil'i'l:n:nltwnys | ——
hy which wyber crme' is committed? Explain
. ! !ﬁ' wilh_ll:_;.-_h::_lp_ul'hllil:llr_ll_:_g:gl_l_n_lplu. I b Cu3 B4
ekl e —— e ]

b2 LB
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'SEMESTER | V | DATEOFEXAM | 041212021 |
SUBJECT DIGITAL ELECTRONICS & | SUBJECT CODE ECH308B-T [
NAME __|_MICROCONTROLLERS \ _ — ]
BRANCH | B.Tech CSE/DSML/DTE | SESSION | II_
TIME | 3 Hours ' MAX. MARKS | 100 |
PROGRAM | B.Tech. ' CREDITS | 4 |
NAME OF | Vijay Kumar Gill NAME OF | Vijay Kumar Gill
FACULTY ] COURSE
: i . COORDINATOR |
Note: All questions are compulsory.
3 %G sy &gt SR [Enatlgl | SEico 'BLOOM!
QNO- _ QUESTIONS . |MARKS| \pnpecepp |isiEves | P
1.1.1,
1(A) | convert (982.14), to its decimal equivalent. 2 01, C02 BT3 | 134
" | 111,
bﬁ 1[“] Perform BCD addition of (125) and (376). 2 C01, C02 BT3 13.1
20 ' 111
"5 | Prove that 1.1,
> 1(C) | (x, + x) G T +x3)(x%2 +x,03) = (31 %) 2 €01, C02 BT3 13.1
— Minimize the Boolean expression using K-map for .
I 0P function. sdele
1(D) sp[i,; E?D,E )=ym(0,1.9.15,24,29,30)+d(8.,11,31) 4 €01, €02 BT4 | 131
: Designa combinational logic circult whose output i
; ;__2_(_51 itflgll]%homywmn malority of inputs (A, B, C) are " D102 BT3 1-‘3-.1.
===
: ?;a : Convert a JK Flip Flop to SR Flip Flop using 111,
) z[B’) characteristic and excitalion table. 7 C03 BT3 13.1
i = Design and explaln JIhiLR2ZR Imthr type Digital
.t | Analog C nvertor and calculate the output
!gff' i vl.r{:m:;cul'lt;r:ﬁh]l ladder DAC 1T a digital input of 1‘1'11'
: | 101001 is applied. (Vyax = 10 Volts) 10 co3 BT4 | 1.3.1
: 3 1.1
| e lgn and Explnlnlln:wurklnuul a3-0it 1.1.1,
(B). grtlslfur‘c;llunnl Register using the JK Fllp Flop 10 €03 pr4__| 1.3.1




8051 microcontroller.

;ﬁ,_ s ?I‘;Sign MOD 7 synchronous counter using JK Flip
S p and implement it. Also construct a timing 1.1.1,
4(A) | diagram. 10 o3 BT4 | 13.1
_ | Design and explain the working of 4 Bit Ripple UP L11,
Q4(B)| counter with the help of waveform diagram 10 C03 BT3 1.3%
Dc.:scribc the architecture of 8051
microcontroller with the help of neat diagram. L11,
Q5(A) ) 8 co4 BTZ | 1.3.1
Writc an assembly language program of 8051
microcontroller to find the sum of 10 numbers
stored in an array. Draw the flow chart to specify 1.1.1,
Q5(B) | the steps of the design flow. 7 Co4 BT3 13.1
Explain the following instructions giving proper
format and example of each
)] DAA
= i)  SWAP
> iii) CALL & RET
~ iv)  PUSH&POP
~ LL1,
o | Q6(A) 8 co4 BT2 | 13.1
What value do we need to load the timer’s
register if we want to have a time delay of 5
milliseconds? Show the program for timer 0 to
creatc pulse width of 5 milliseconds on P2.3. LLI,
Q6(B) | (Assume that XTAL = 11.0592 MHz) 7 CO4 BT3 13.1
Write an assembly language program for the
8051 to transfer “ABCD" serially at 9600 baud, 1.1.1,
Q7(A) | 8-bit data, | stop bit, do this continuously. 5 co4 BT3 13.1
Define and explain the addressing modcs of 1.1.1,
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